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Correct Marks : 2 Wrong Marks : 0

Which school of thought laid down one of the principles of teacher and learner role as follows,

'The teacher's role is not to direct, but to advise because the child’s own interest should
determine what he learns”

1. Perennialism

2. Progressionism

3. Essentialism

4. Reconstructionism
Options :
71087044281. 1
71087044282. 2
71087044283. 3
71087044284. 4

Question Number : 1 Question Id : 71087011115 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044281. 1
71087044282. 2
71087044283. 3
71087044284. 4

Question Number : 2 Question Id : 71087011116 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the list given below, identify those features which relate to an approach to teaching and
learning in indirect strategies of teaching

A. Engagement in an inquiring process

B. Concept-based content presentation

C. Gaining attention and informing the learners of the instructional objective

D. Presenting the stimulus material and stimulating recall of prerequisite learning
E. Encouraging students to use references from their own experiences

Choose the correct answer from the options given below:

1. A, B and C only
2. B, C and D only
3. A, B and E only
4. C, D and E only
Options :
71087044285. 1
71087044286. 2
71087044287. 3
71087044288. 4

Question Number : 2 Question Id : 71087011116 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087044285 1
71087044286. 2
71087044287. 3
71087044288. 4

Question Number : 3 Question Id : 71087011117 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



For use during teaching, from the list given below, identify questions that are ‘process
type’ rather than ‘content-type’

A. Divergent questions

B. Fact-based questions

C. Concept-based questions

D. Lower arder questions

E. Higher-order questions

Choose the correct answer from the options given below:

1.A CandE only
2. B, C and D only
3.C, D and E only
4. B, D and E only
Options :
71087044289. 1
71087044290. 2
71087044291. 3
71087044292. 4

Question Number : 3 Question Id : 71087011117 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087044289. 1
71087044290. 2
71087044291, 3
71087044292, 4

Question Number : 4 Question Id : 71087011118 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement I: Reliability is 2 necessary but insufficient condition for validity

Statement ll: In respect of evaluation tools, validity is not an all or none concept but it exists
as a continuum

In light of the above statements,choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement Il is true
Options :

71087044293. 1

71087044294. 2

71087044295. 3

71087044296. 4

Question Number : 4 Question Id : 71087011118 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044293. 1
71087044294. 2
71087044295. 3
71087044296. 4

Question Number : 5 Question Id : 71087011119 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Systems of education which are place-specific, time-specific and person-specific
are said to be formal and are created by laid down law and procedures

Reason R: Open universities and open schools are the example of a formal system of
education because they are created by laid down procedures

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087044297. 1
71087044298. 2
71087044299. 3
71087044300. 4

Question Number : 5 Question Id : 71087011119 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044297. 1

71087044298. 2

71087044299. 3

71087044300 4

Question Number : 6 Question Id : 71087011120 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following methods of acquiring knowledge save time and effort on the part of
the researcher?

1. Method of experience

2. Inductive method

3. Deductive method

4. Methed of consulting an authority
Options :

71087044301. 1

71087044302. 2



71087044303. 3
71087044304. 4

Question Number : 6 Question Id : 71087011120 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044301. 1

71087044302. 2

71087044303. 3

71087044304. 4

Question Number : 7 Question Id : 71087011121 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are features of the qualitative research paradigm?

A. The research is concerned with understanding the social phenomena from the participant’s
perspective

B. It seeks to establish relationships, among variables and explains the causes of changes in
measured social facts

C. It is conducted in actual settings as the direct source of data and the researcher is the key
instrument

D. It is concerned with the process rather than simply with outcomes or products
E. It attempts to establish universal context-free generalization
Choose the correct answer from the options given below:

1. A, B and C only
2. B, C and D only
3. A, Cand D only
4. C, D and E only
Options :
71087044305. 1
71087044306. 2
71087044307. 3
71087044308. 4

Question Number : 7 Question Id : 71087011121 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087044305 1
71087044306. 2
71087044307. 3
71087044308. 4

Question Number : 8 Question Id : 71087011122 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A researcher administers an achievement test to assess and indicate the possible effect of an
independent variable in his/her study. The distribution of scores on the test is found to be
negatively skewed. On the basis of this, what can be stated with regard to the difficulty level of
the test?

1. The test is very easy

2. The test is very difficult

3. The test is neither easy nor difficult

4. The test is easy and needs normalization
Options :

71087044309. 1

71087044310. 2

71087044311. 3

71087044312. 4

Question Number : 8 Question Id : 71087011122 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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71087044309. 1

71087044310 2

71087044311. 3
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Question Number : 9 Question Id : 71087011123 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: A researcher has to observe codal formalities at all stages without scope and
leeway for offending moral and ethical norms

Reason R: In respect of data collection, data analysis and interpretation there is, however, a
considerable scope of being ethically vulnerable

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087044313. 1

71087044314. 2

71087044315. 3

71087044316. 4

Question Number : 9 Question Id : 71087011123 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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71087044313. 1

71087044314 2

71087044315. 3

71087044316 4

Question Number : 10 Question Id : 71087011124 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The scope for employing ICT support is relatively more in which of the following stages of
research?

A. Problem formulation

B. Hypothesis making

C. Data collection

D. Data analysis

E. Data interpretation

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3. Cand D only
4. D and E only
Options :
71087044317. 1
71087044318. 2
71087044319. 3
71087044320. 4

Question Number : 10 Question Id : 71087011124 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Question Shuffling Allowed : Yes

Question Id : 71087011125 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (11 to 15)

Question Label : Comprehension

Read the given passage carefully and answer the questions that follow
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Transformation is characterized by certain features that clearly differentiate it from other types
of change. First, according to Beckhard, it involves substantial and discontinuous change to the
shape, structure, and nature of the organization, rather than incremental adjustments and fine-
tuning of the current situation. One example of a discontinuous change would be when a firm
changes from being production-driven to being customer-driven. Another would be a merger
of two crganizations. In both instances, the shape of the organization can be expected to
change radically. An corganization transforming from a preduction orientation to a customer
orientation will need to drastically decentralize and delegate authority. In a merger, entirely
new roles and working relationships will be created.

A second characteristic of transformation is that the need for change is caused by forces
external to the organization rather than forces inside the organization. A typical example
would be when an organization changes frem a functional to a divisional structure in response
to market forces or industry pressures in the form of competitor actions or regulatory changes.
Currently, globalization is one of the most powerful external forces for organizational
transformation.

A third distinguishing feature of transformation is that the change is deep and pervasive,
rather than shallow and contained. The change affects all parts of the organization and
involves many levels. Decentralization, downsizing and the gecgraphic relocation of functions
and activities exemplify changes that transform structural relationships deeply and pervasively.

Finally, transformation requires significantly different, and even entirely new, sets of actions by
the members of the organization, rather than more or less of existing behavior patterns.
Examples are changes to the norms and core values of an organization that are brought about
through acquisition, deregulation, and privatization or through a drastic strategic repositioning
such as shifting from a production-efficiency focus to a customer-service strategy.

Sub questions

Question Number : 11 Question Id : 71087011126 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

According to Richard Beckhard, transformation is what kind of change in the
organisational structure?

1. Incremental

2. Discontinuous
3. Finetuning

4, One-time
Options :
71087044321. 1
71087044322. 2
71087044323.3
71087044324, 4

Question Number : 12 Question Id : 71087011127 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What happens when two organisations merge?

A. Shape of the organisation will change

B. Product orientation remains the same

C. Drastic decentralisation of authority

D. Discontinucous change does not take place

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. A and C only



Options :

71087044325. 1
71087044326. 2
71087044327. 3
71087044328. 4

Question Number : 13 Question Id : 71087011128 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The pressure of market force can result in

1. Distortion of role perceptions

2. Changing to a functional structure
3. Changing to a divisional structure
4. Deregulation of competitive factors
Options :

71087044329. 1

71087044330. 2

71087044331. 3

71087044332. 4

Question Number : 14 Question Id : 71087011129 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What are the main levels of organizational transformation?
A. Downsizing

B. Geographical relocation

C. Contained changes

D. Power to external forces

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. A and D only
Options :
71087044333. 1
71087044334. 2
71087044335. 3
71087044336. 4

Question Number : 15 Question Id : 71087011130 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What does organizational transformation require?

1. Strengthening existing behaviours of members
2. Changes in norms and core values

3. Production-efficiency strategy

4. All pervasive structural relationships

Options :

71087044337. 1

71087044338. 2



71087044339. 3
71087044340. 4
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Question Label : Comprehension
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Question Number : 11 Question Id : 71087011126 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044321. 1
71087044322. 2
71087044323. 3
71087044324. 4

Question Number : 12 Question Id : 71087011127 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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71087044325. 1
71087044326. 2
71087044327. 3
71087044328. 4

Question Number : 13 Question Id : 71087011128 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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71087044329. 1

71087044330 2

71087044331. 3

71087044332, 4

Question Number : 14 Question Id : 71087011129 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Question Number : 15 Question Id : 71087011130 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
BT SRl & o 1 HUEa § 2

1. 9o dl & Ugiad HdeR &l Yeoax
2. HiF® Ud Gadhisd gl § dadid

3. TG BIAAT DI WA

4 THI TREATHES A Hdy
Options :

71087044337. 1




71087044338. 2
71087044339. 3
71087044340. 4

Sub-Section Number : 3
Sub-Section Id : 710870325
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 71087011131 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The domain of media appeal addresses the issues related to

1. Knowledge
2. Learning

3. Legality

4. Emotions
Options :
71087044341. 1
71087044342. 2
71087044343. 3
71087044344. 4

Question Number : 16 Question Id : 71087011131 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HitsaT Srdie &1 Sar [y 4s Y dafed § 7
1. 3

2. ey

3. faf¥repan

4, 94T

Options :



71087044341. 1
71087044342. 2
71087044343. 3
71087044344. 4

Question Number : 17 Question Id : 71087011132 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following will make a student a good listener in the classroom?
A. Ability to deflect attention

B. Concentration

C. Desire to understand

D. Emotional outbursts

E. Humility to know

F. Ignoring the other side

Choose the correct answer from the options given below:

1. A B and C only
2. B, Cand D only
3.0, Eand F only
4. B, Cand Eonly
Options :
71087044345. 1
71087044346. 2
71087044347. 3
71087044348. 4



Question Number : 17 Question Id : 71087011132 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HeTd gRax | Fgifed # 9 o -1 ugf faenll &f T a1 411 s -

A. 21 fa®Ttd g4 @ &mar
B. GBS

C. 339y Bl EEE]

D. §3THS [Ghie

E. S HeE fg=aa

F. GUX U& D1 JUET B3
el fdhcd &1 994 Hiferu -

1. ®3d A, B3R C
2. $dd B, C3ARD
3. PaAD, E3NF
4 $daB, CARE
Options :
71087044345, 1
71087044346, 2
71087044347, 3
71087044348, 4

Question Number : 18 Question Id : 71087011133 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Pedagogy and social interaction are two major areas of activity of teachers
Reason R: It is communication that is crucial for making both the activities important

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087044349. 1

71087044350. 2

71087044351. 3

71087044352 4

Question Number : 18 Question Id : 71087011133 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
o Gl By G TN § : T @l ey (A) 3R G @I ad (R) Pel T & ;
YA (A) : RI&® & G UHE D1 38 © - FE YR B SHBRI Yl WHIS il
b (R) : 39 &H! Bl & Tewaqyl s od SS90 3fdd Hewqdf 8|
Iuhdad HYHl & i H Fdiihd eyl H 9 Haiide I9g%d 3w 91 ;
A) 3R (R) THT T8I § 3R (R), (A) P! T8l AR B |
A) 3R (R) THT T § 3R (R), (A) BT T oA T8l €|
)
)

A) HB1 & U3 (R) 7Taid & |

1.
2. (
3.
4, (A) 7T 8 IR (R) W6l 8



Options :

71087044349. 1
71087044350. 2
71087044351. 3
71087044352. 4

Question Number : 19 Question Id : 71087011134 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List I with List Il

List | List 1l

Types of listeners Characteristics

A. Poor listeners . Scare others

B. Aggressive listeners II. Easily agree with the speaker

C. Passive listeners lll. Listen to ideas, but no emotions behind
D. Pseudo-intellectual IV. Fidget repeatedly

Choose the correct answer from the options given below:

TA-LB-ILC-IILD-V
ZA-ILB-LC-1IV,D-I
JA-ILB-IV,C-1,D-1i
4 A-IV,B-LC-II,D-1
Options :

71087044353. 1
71087044354. 2
71087044355. 3
71087044356. 4

Question Number : 19 Question Id : 71087011134 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
Tail-1 B Gai-1l & Gy GHfd DI :
| el
siarsl dTUSR  (fa2yan
ANDIG YA |G BISUd B
B. 3ThH® 4ial |1l 9okl § I U YeHd 8l old &

RS s 11, T3TRI &7 %@01 F3d © dide 98 ol HiE Tal
| el

[-;‘%Tﬁ[ V. IRAER Jde S I

fafeiad 9ol § ¥ 98 S gHu

TA-LB-ILC-IILD-V
ZA-ILB-HLC-IV,D-I
JA-ILB-IV,C-1,D-1I
4 A-IV,B-LC-1I,D-1l
Options :

71087044353. 1
71087044354. 2
71087044355.3
71087044356. 4

Question Number : 20 Question Id : 71087011135 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Find out the correct chronological order of the following educational communication ventures
in India

A. Krishi Darshan

B. Gyan Darshan

C. Vyas

D. Gyan Vani

Choose the correct answer from the options given below

1A B CD
2B CD A
3.D,A B C

4. A, D, B, C
Options :
71087044357. 1
71087044358. 2
71087044359. 3
71087044360. 4

Question Number : 20 Question Id : 71087011135 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HRd H e TEN0 IumHl & gaH | Heifed & ¥ 98 S-aR 59 9asu
A. DY A
B. 9 &2

C. "
D. 3 aroft
- feu v fasedl ¥ ¥ 9El S 9T

1A B CD
2B CDA
3.D,A B C

4. A, D, B, C
Options :
71087044357. 1
71087044358. 2
71087044359. 3
71087044360. 4

Question Number : 21 Question Id : 71087011136 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The difference of the square of two consecutive even numbers is 84. What is the sum of these
two consecutive even numbers?

1. 34
2. 38
3. 36
4. .42
Options :



71087044361. 1
71087044362. 2
71087044363. 3
71087044364. 4

Question Number : 21 Question Id : 71087011136 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
&l St TH Y1l o 971 BT 3R 84 B 1 T G ShIHD UH WIS B A H1 6 ?

1. 34

2. 38

3. 36

4.42

Options :
71087044361. 1
71087044362. 2
71087044363. 3
71087044364. 4

Question Number : 22 Question Id : 71087011137 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the next term in the series

0,8, 24 48, __

sl
|
[

i
[l
=

Options :
71087044365. 1



71087044366. 2
71087044367. 3
71087044368. 4

Question Number : 22 Question Id : 71087011137 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FafeRad oie g # 3T 3@ ®f UgaH ditag

0,8, 24 48, __

sl
|
[

i
[l
=

Options :

71087044365. 1
71087044366. 2
71087044367. 3
71087044368. 4

Question Number : 23 Question Id : 71087011138 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Mr X is 40 years old and MrY is 60 years old. How many years ago was the ratio of their ages
3:57

1. 15 years
2. 10 years
3. 20 years
4, 30 years
Options :



71087044369. 1
71087044370. 2
71087044371. 3
71087044372. 4

Question Number : 23 Question Id : 71087011138 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TPReR X BT 31 40 99 ¢ 3R %X v &1 341 60 94 5| fovd 9 Ugdl 34 HI @1 g &1 3uld 3
5 YI?

11534
2.10 34
3.20T4
4,304
Options :
71087044369. 1
71087044370 2
71087044371, 3
71087044372 4

Question Number : 24 Question Id : 71087011139 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a river from a fixed location, two identical boats start moving up-stream and down-stream,
respectively. The speed of the water current in the river is 3km/hour. If the speed of each of
the boats in still water is 15km/hour, the separation between the boats after 12 minutes will be

1. 3.6 km
2. 5.6 km
3. 6.0 km
4. 7.2 km



Options :

71087044373. 1
71087044374. 2
71087044375. 3
71087044376. 4

Question Number : 24 Question Id : 71087011139 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

et 761 & uo AfEe i € o e $HY: 746 B YR & U SR 961 3 U 1 3R TR
Bl 6| FAYRI @1 71d 3 .t /der g1 afe 33 Al Adrsil 3 € U@ A% @1 T R §a d
15 T Hl/ del & df 12 f&He & gaiq el idbrsil & did S gl ghil -

1. 3.6 T AT,

2. 5.6 [ Hl,

3. 6.0 T Hl,
4, 7.2 fo T,
Options :
71087044373. 1
71087044374, 2
71087044375, 3
71087044376. 4

Question Number : 25 Question Id : 71087011140 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Consider the following letter series and identify the next term
ace, thj, kmo,

1. npr

2. rv

3. prt

4. uwy
Options :
71087044377. 1
71087044378. 2
71087044379. 3
71087044380. 4

Question Number : 25 Question Id : 71087011140 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fgfafad 3ol - A W IR ST 3R 31T 98 &1 g S ;
ace, thj, kmo, ____

1. npr

2. rty

3. prt

4, uwy
Options :
71087044377. 1
71087044378. 2
71087044379. 3
71087044380. 4

Question Number : 26 Question Id : 71087011141 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
Match List I with List Il

List I List 11
Theories Philosophers
A. Episteme and Doxa . Aristotle

B. Potential and Actual being Il. Hegel

C. Vyavaharika and Parmarthik lll. Sankara

D. Rational and Actual IV. Plato

Choose the correct answer from the options given below:

TA-LB-ILC-IILD-V
ZA-ILB-HLC-IV,D-I
JA-ILB-IV,C-ILD-I
4 A-IV,B-LC-IILD-I
Options :

71087044381. 1
71087044382. 2
71087044383. 3
71087044384. 4

Question Number : 26 Question Id : 71087011141 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 i Faii-1l & 9y GAferd ifor :

gal-| -1l

g HEIEED
A, U a1 SiE I AT,
B. §Yd U4 ad® Wd I 87
C. H9ele Ud URATda 111X
D. difh® U4 ardiad® WAE
i fou 7u fadedl o 4 Uel fdee gHu

TA-LB-ILC-IILD-V
ZA-IL,B-ULC-IV,D-I
JA-NILB-IW,C-1LD-|
4 A-IV,B-LC-IILD-I
Options :

71087044381. 1
71087044382. 2
71087044383. 3
71087044384. 4

Question Number : 27 Question Id : 71087011142 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What type of cognition is beyond the ambit of perception?

1. Anumiti

2. Upamiti

3. Nirvikalpaka pratyaksha
4. Savikarpaka pratyaksha
Options :

71087044385. 1



71087044386. 2
71087044387. 3
71087044388. 4

Question Number : 27 Question Id : 71087011142 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
U0 & G § W Hgiieed § 4 &H-91 S{fH§H A8 2
Proffed § 3 v Rew g

1. S

2. 3ufmfd

3. Ffdea® U
4. Giddbcdd Taf
Options :
71087044385. 1
71087044386. 2
71087044387, 3
71087044388. 4

Question Number : 28 Question Id : 71087011143 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘Golden mountain is fiery because it is smoky'
Which type of fallacy is committed by the above inference?

1. Asraya siddhi

2. Svarapa siddhi

3. Vyapyatva siddhi
4. Savyabhichara



Options :

71087044389. 1
71087044390. 2
71087044391. 3
71087044392. 4

Question Number : 28 Question Id : 71087011143 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e Udd i & it U8 YHaH & 59 SHM § B H-8 s & 7

1. ARG
2. eyl g
3. ATH@ G
4, GogHAR
Options :
71087044389. 1
71087044390. 2
71087044391 3
71087044392, 4

Question Number : 29 Question Id : 71087011144 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a proposition which is particular affirmative,

1. Subject term is distributed but the predicate is not distributed
2. Neither the subject nor the predicate is distributed

3. Both subject and predicate are distributed

4. Subject is undistributed but predicate is distributed

Options :

71087044393. 1



71087044394. 2
71087044395. 3
71087044396. 4

Question Number : 29 Question Id : 71087011144 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

1. 3527 UG faaRd gid1 & W (99 faafd 781 gial &
2. 954 IR fAug & &5 i fGaRkd A8 sl g1

3. 3290 3R faty gl faaia gia &

4. 35=y fqaRa 7dt giar & g g faafa g 1
Options :

71087044393, 1

71087044394, 2

71087044395, 3

71087044396. 4

Question Number : 30 Question Id : 71087011145 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11
Concepts Schools

A. Abhava . Jainism

B. Anupalabdhi Il. Buddhism
C. Apoha lll. Vedanta
D. Syadavada IV. Nyaya

Choose the correct answer from the options given below:

TA-ILB-ULC-1L,D-IV
ZA-IILB-V,C-ILD-|
SA-IVB-LC-ILD-|
AA-I,B-ILC-1IV,.D-1lI
Options :

71087044397. 1
71087044398. 2
71087044399. 3
71087044400. 4

Question Number : 30 Question Id : 71087011145 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 i Faii-1l & 9y GAferd ifor :

gal-| Il
YR dquay
A. YT |
B. SMUdle .9l
C. U8 L. deid
D. Wladia V. =g1g
i fou e fadeal o  Ugl 9w gMu:

TA-ILB-ULC-1,D-IV
ZA-ILB-V,C-ILD-|
SA-IV,B-ILC-ILD-|
4 A-,B-ILC-1V,D- 1

Options :

71087044397. 1
71087044398. 2
71087044399. 3
71087044400. 4

Sub-Section Number : 4
Sub-Section Id : 710870326
Question Shuffling Allowed : Yes

Question Id : 71087011146 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (31 to 35)
Question Label : Comprehension



Study the data table and answer the questions that follow

The following table shows the maximum marks of each subject inside the bracket and
percentage of marks obtained by seven students in six different subjects in the exam

Computer
Student/Subject science |Chemistry Physics/Geography History Math
(150) (130) (120) (100) (50) | (40)
Piyush 90 50 90 60 70 80
Gaurav 100 80 80 40 80 70
Mayank 90 60 70 70 90 70
Vimal 80 65 80 80 60 60
Vikas 80 65 85 95 50 90
Varun 70 75 65 85 40 60
Ashish 65 35 50 77 80 80

Sub questions

Question Number : 31 Question Id : 71087011147 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What are the average percentage of marks (%) obtained by all the seven students in Physics?

1. ~82.42
2. ~74.28
3. ~86.24
4. ~95.14



Options :

71087044401. 1
71087044402. 2
71087044403. 3
71087044404. 4

Question Number : 32 Question Id : 71087011148 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The number of students who obtained 60% and above marks in all subject is:

1. 4

2.5

3.2

4.1

Options :
71087044405. 1
71087044406. 2
71087044407. 3
71087044408. 4

Question Number : 33 Question Id : 71087011149 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What are the aggregate of marks obtained by Mayank in all the six subjects?

1. 432

2. 456

3. 460

4. 440
Options :
710870444009. 1



71087044410. 2
71087044411. 3
71087044412. 4

Question Number : 34 Question Id : 71087011150 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which subject is the overall percentage the best?

1. Computer Science
2. Chemistry

3. Math

4. Physics

Options :
71087044413. 1
71087044414. 2
71087044415.3
71087044416. 4

Question Number : 35 Question Id : 71087011151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the overall percentage of Ashish?

1. 54%

2. 68%

3. 59.66%

4. 63%
Options :
71087044417. 1
71087044418. 2
71087044419. 3
71087044420. 4



Question Id : 71087011146 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (31 to 35)

Question Label : Comprehension

fFrafafes afte Tde iva & oa @) o Sige § R uien & o8 f[ifis fual & 9w

BT gRT U fhu 7TT oit o1 ufawa gt &
HyeR fagH | TR | difadt |y | sfaer | afird
@ / faug
(150) (130) (120) | (100) | (50) | (40)
gy 90 50 9 | 60 | 70 | 80
g 100 80 80 | 40 | 80 | 70
Ha® 90 60 70 70 90 | 70
fara 80 65 80 | 80 | 60 | 60
faa g 80 65 85 95 | 50 | 90
G| 70 75 65 | 85 | 40 | 60
S IEIL] 65 35 50 | 77 | 80 | 80

Sub questions

Question Number : 31 Question Id : 71087011147 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



quft Tra faentdal gro Hifiost § urg i 710 ofid 3fd (90) T E 7

~82.42
~74.28
~86.24
~95.14
Options :
71087044401. 1
71087044402. 2
71087044403. 3
71087044404. 4

e A

Question Number : 32 Question Id : 71087011148 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
gyl fquai # 60% 3R 3TH AfYd 3ih UId B3 dIc S & G 18 ?

1. 4

25

32

4.1

Options :
71087044405. 1
71087044406. 2
71087044407. 3
71087044408. 4

Question Number : 33 Question Id : 71087011149 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T &1 94 ¢ vl & o Uidie | g ?

1. 432

2. 456

3. 460

4. 440
Options :
710870444009. 1
71087044410. 2
71087044411. 3
71087044412. 4

Question Number : 34 Question Id : 71087011150 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g faug ¥ yidie! & 999 ufdeddl 93y a7

1. S faqH
2. YHIOA 9 d
3. TTfUrd

4, Hifasl
Options :
71087044413. 1
71087044414. 2
71087044415.3
71087044416. 4

Question Number : 35 Question Id : 71087011151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



=Y &1 99Y ufaed fdai g 7

1. 54 %

2. 68 %

3. 59.66 %

4. 63 %
Options :
71087044417. 1
71087044418. 2
71087044419. 3
71087044420. 4

Sub-Section Number : 5
Sub-Section Id : 710870327
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 71087011152 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the full form of the abbreviation ISP?

1. International Service Provider
2. Internet Service Provider

3. Internet Software Provider

4. Internet Service Product
Options :

71087044421. 1

71087044422. 2

71087044423. 3

71087044424 4

Question Number : 36 Question Id : 71087011152 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
"3TS UY U1 WA U8 ST R EY 18 ?

1. XA Giad Ylargst
2. e¥-e gidy Uiags

3. e G dWm Hias sy
4 3R glqq Uisae
Options :

71087044421 1
71087044422, 2
71087044423. 3
71087044424, 4

Question Number : 37 Question Id : 71087011153 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the name for a web page address?

1. Directory

2. Folder

3. Domain

4. URL
Options :
71087044425. 1
71087044426. 2
71087044427. 3
71087044428. 4

Question Number : 37 Question Id : 71087011153 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



de UM TS o [AU A 1 & 7

1. ST

2. hieaR

3. SiEA

4 3N Ug
Options :
71087044425. 1
71087044426. 2
71087044427. 3
71087044428. 4

Question Number : 38 Question Id : 71087011154 Question Type : MCQ Option Shuffling : No Display Question Number
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Privacy and security of user data is at stake on the Internet

Reason R: No steps are being taken by the user for the security and privacy of data

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087044429. 1

71087044430. 2

71087044431. 3

71087044432. 4

: Yes Is



Question Number : 38 Question Id : 71087011154 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

o Gl By G TN § : T @l ey (A) 3R G @I ad (R) Pel T & ;
HYHYT (A) : SeTC W SIET WG 3 FIeiar 3R QRam gid W ekl g

TP (R) ; VGG R ST 31 GRE&T 3R Fioidl oq ®Is U9 e T o1 3% B
S B! & SHaiE | HHied el H J Jaiiye Juged IR gA ;

A) 37 (R) GHFI T8l € 31X (R), (A) B! Gel AReAT & q
A) 31X (R) &HT Tl € 3R (R), (A) B Uel IR 981 &
A) TE1 8 IR (R) el el 2

A) HE1 981 8 IR (R) HEI B

Options :

71087044429. 1

71087044430. 2

71087044431. 3

71087044432. 4

1.
2.
3.
4.(

Question Number : 39 Question Id : 71087011155 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a system software?

1. Compiler

2. Operating System

3. Application Software
4. Editor

Options :

71087044433. 1



71087044434. 2
71087044435. 3
71087044436. 4

Question Number : 39 Question Id : 71087011155 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Frferad # ¥ ®H-31 ey IeaiR 81 8 2

1. PUZTR

2. ATRFAT fies

3. Uil Tiear
4, TSR

Options :
71087044433 1
71087044434, 2
71087044435. 3
71087044436, 4

Question Number : 40 Question Id : 71087011156 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is excluded from the domain of Artificial Intelligence?

1. Computer Vision
2. Machine Learning
3. Deep Learning

4. Text

Options :
71087044437. 1
71087044438. 2
71087044439. 3



71087044440. 4

Question Number : 40 Question Id : 71087011156 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Frafafed & @ oF-u ohHm g enféfrima et T s am e ?

1. PR fge
2. R &
3. 3o Al

4, TR
Options :
71087044437. 1
71087044438. 2
71087044439. 3
71087044440. 4

Question Number : 41 Question Id : 71087011157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are Millennium Development Goals?
A. Eradicating extreme poverty and hunger

B. Improving maternal health

C. Addressing climate change

D. Promoting gender equity and empowerment of women

E. Ensuring energy security for all

Choose the correct answer from the options given below:

1. A, B, Cand D only
2. A, C, DandE only
3.ABCDandE

4. A B and D only
Options :
71087044441. 1
71087044442. 2
71087044443, 3
71087044444, 4

Question Number : 41 Question Id : 71087011157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Hedleg] famy ded FaRiEa d 4o 98 2

A, Sifded T 3R 1 &1 3= Bl

B. HIg SR H GUR @I

C. Sadrg giad ¢t FHEeE &A1

D, AT T SR Bie Gida®m=ul o 9elal el
E. vt & o Sl gran gRida &

i feu 71u faoedl # U el 3T &l 94 Bife :

1. B3 A, B, C3IRD
2. PaddA, C, DIARE
3.A B CD3IRE

4 H3dA B3R D
Options :
71087044441. 1
71087044442, 2
71087044443, 3
71087044444, 4

Question Number : 42 Question Id : 71087011158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of energy sources in terms of their heat of combustion in
increasing order

A. Methane

B. Natural fats and oils

C. Dry wood

D. Green wood

Choose the correct answer from the options given below

1.ACBD
2.D,CB A
3.D0,B,C A
4.D,C A B
Options :
71087044445. 1
71087044446. 2
71087044447. 3
71087044448. 4

Question Number : 42 Question Id : 71087011158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fgfeiad St Gidt ©f ge1 91 & UgH § 390 U8l ARe! e & Ugd e ;
A HidA
B. UIidd a4l 3R dd

C. I PIY
D. ERd &8
Fafafad fasedl & ¥ U8l o= 9T

1.ACBD
2.D,C B A
3.D,B,C A
4D, C A B
Options :
71087044445. 1
71087044446. 2
71087044447.3
71087044448. 4

Question Number : 43 Question Id : 71087011159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Polluted rivers with very high values of Biological Oxygen Demand (BOD) may
produce a foul smell

Reason R: Anaerobic bacteria produce sulphur dioxide and oxides of nitrogen

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087044449. 1

71087044450. 2

71087044451. 3

71087044452. 4

Question Number : 43 Question Id : 71087011159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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d® (R) : 'TRIfdD 9aIRAT b SIS AR Ao & HFISS Ual Hd & |

U Byl b e H Fgifed famedl | 9 waifts 3uged 3w g4 -

1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) ¥R (R) GHI T8I € &R (R), (A) DI Uel SRAT 751 5|
3. (A) TE1 8 R (R) TE1 T &

4. (A) HEl 981 8 IR (R) 9E1 B

Options :

71087044449. 1

71087044450. 2

71087044451. 3

71087044452, 4

Question Number : 44 Question Id : 71087011160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



High hazard wastes may contain

A. Pathogens

B. Radioactive wastes

C. Non-reactive substances

D. Corrosive substances

Choose the correct answer from the options given below

1. A, B and D only
22A B CandD

3. B and D only

4. A B and Conly
Options :
71087044453. 1
71087044454, 2
71087044455. 3
71087044456. 4

Question Number : 44 Question Id : 71087011160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HTEH WIS U & Iiaa gl Udd & -
A. DUToig
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AT feu 71U faeedl # © Uel I &1 98 BT :
1.Bac A B3R D

2.A, B, C3HRD

3. HaAB AR D
4, HIAA BIAHR C
Options :
71087044453. 1
71087044454, 2
71087044455. 3
71087044456, 4

Question Number : 45 Question Id : 71087011161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In case of which of the following primary pollutants, the man-made contributions to global
emissions (million tonnes per year) is more compared to that from natural sources?

1. Sulphur dioxide
2. Nitric oxide

3. Methane

4. Carbon dioxide
Options :



71087044457. 1
71087044458. 2
71087044459. 3
71087044460. 4

Question Number : 45 Question Id : 71087011161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fgfafaa o O fog mufle ugue & g9 o 3f¥e IdeH Wfd v fafees eq) s ded &
WiGlad Fial @1 ga1 H A4 & (36491 &1 IRTEH HEE § 2

1. Yoy SAHEES
2. AER® AHEs
3. dH

4, PET SAHES
Options :
71087044457. 1
71087044458, 2
71087044459. 3
71087044460. 4

Question Number : 46 Question Id : 71087011162 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which of the Universities named below, correspondence courses were initiated in 19627

1. University of Madras
2. University of Bombay
3. University of Calcutta
4. University of Delhi
Options :

71087044461. 1



71087044462. 2
71087044463. 3
71087044464. 4

Question Number : 46 Question Id : 71087011162 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fgfafaa o O fog fayfaarean o 94 1962 T UAEIR Ureushdl &1 Xo3HTd &1 1s 1 7

1. g fayfd=nea

2, Sigs [ayfaaTay

3. daiddl fayfdeay
4, feeoil faufaemeg
Options :
71087044461. 1
71087044462, 2
71087044463. 3
71087044464 4

Question Number : 47 Question Id : 71087011163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following areas of liberal education at the higher level in feudal society of Europe
were classified under trivium?

A. Geometry

B. Astronomy

C. Grammar

D. Logic

E. Rhetoric

Choose the correct answer from the options given below:

1. A, B and C only
2. B, C and D only
3.C, D and E only
4. A DandE only
Options :
71087044465. 1
71087044466. 2
71087044467. 3
71087044468. 4

Question Number : 47 Question Id : 71087011163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A. ST

B. G faiH

C. SR

D. T
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e feg 71e faeeul 9 U 9et ST &1 957 Sifer

1. ®3d A, B3R C
2. Paa B, C 3R D
3. PaqaC, D 3MRE
4. H3dA DIHRE
Options :
71087044465. 1
71087044466, 2
71087044467. 3
71087044468, 4

Question Number : 48 Question Id : 71087011164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following categories of colleges is primarily intended for creating work ready
manpower on a large scale?

1. Autonomous college
2. Community college
3. Agriculture college
4. Technical college
Options :

71087044469. 1
71087044470. 2
71087044471. 3
71087044472. 4

Question Number : 48 Question Id : 71087011164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FrafaRad 7 3 g 9ofl & Heriderad &1 e Ie%a e T9H W H1 o GOR SR
B A HTTEMIE 2

1. T HElld<ay
2. Y™ Helfaeey
3. Y Heldaay

4, dh-1d] Helfdenad
Options :
71087044469. 1
71087044470. 2
71087044471 3
71087044472. 4

Question Number : 49 Question Id : 71087011165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Synchronous communication takes place through which of the following technologies?
A. Video chat

B. Virtual classrooms

C. Audio conferencing

D.Wikis

E. Electronic mail

Choose the correct answer from the options given below:

1. A, B and C only
2. B, C and D only
3.C, D and E only
4. A DandE only
Options :
71087044473. 1
71087044474, 2
71087044475. 3
71087044476. 4

Question Number : 49 Question Id : 71087011165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



o & ¥ fog deif®! & e ¥ gaeias Sieu 9ied a1 @ 2
A. difsal de
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D. fafeg
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1. HaAA, B3R C
2. ®adaB, C3RD
3. ®aAC, DARE
4. HIAD, E AR A
Options :
71087044473. 1
71087044474 2
71087044475. 3
71087044476. 4

Question Number : 50 Question Id : 71087011166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il

Levels of academic freedom in higher/Concerns at their levels
education institutions

I. Democratic functioning in the higher education
A. Personal level system and believing each individual worthy of
attention

: ll. Standard of behaviour and ethics we adopt
B. Professional level
and develop for ourselves

o l1l. Values which influence and cushion the
C. Institutional level , . ,
operation of higher education

IV. Exercising personal and professional values
D. Societal level within the concept of the higher education
institution

Choose the correct answer from the options given below:

TLA-IV,B-LC-1,D-1I
ZA-IL,B-LC-IV,D-IlI
JA-NILB-IW,C-1LD-|
4 A-1L,B-ILC-IILD-WV
Options :

71087044477. 1
71087044478. 2
71087044479. 3
71087044480. 4

Question Number : 50 Question Id : 71087011166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TR el i R H Al

frafeied famedl H 9 98l SR g -

TLA-IW,B-1,C-1,D-1
ZA-1,B-1L,C-1V,D-1l
JA-ILB-IV,C-Il,D-1
4 A-1,B-ILC-1I,D-1V
Options :

71087044477. 1
71087044478. 2
71087044479. 3
71087044480. 4

PART II International and Area Studies

Section Id : 710870258
Section Number : 2
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 92

Number of Questions to be attempted : 92

Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870328
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 71087011167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The preeminent rise of China and the apparent erosion of US salience, has
resulted in the diffusion of power and the emergence of multiple poles within the global
order.

Reason R: The global order is caught between processes of Multipolarity and Multilateralism.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087044481. 1

71087044482. 2

71087044483. 3



71087044484. 4

Question Number : 51 Question Id : 71087011167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &
2. (A) 3R (R) GHI Fal & 3R (R), (A) Tl U8 AR ol &
3. cm*ﬁﬁ%‘@rz SEHECE]

4. (A) G el § 3R (R) Wel B

Options :

71087044481. 1

71087044482. 2

71087044483. 3
71087044484. 4

Question Number : 52 Question Id : 71087011168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Berlin Wall was built in the year

1.1958

2. 1949

3. 1961
4.1959
Options :
71087044485. 1
71087044486. 2
71087044487. 3
71087044488. 4

Question Number : 52 Question Id : 71087011168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gfefad | [y 9 |4 9fcA <iar & i far mar o -

1. 1958

2. 19459

3. 1961

4. 1959
Options :
71087044485. 1
71087044486. 2
71087044487. 3
71087044488. 4

Question Number : 53 Question Id : 71087011169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What does ‘consociational democracy’ signify?

1. System in which elites sought to defuse the effects of social fragmentation
2. Multiparty system under democracy

3. Coalition of rulers

4. Homogenous political culture

Options :

71087044489. 1

71087044490. 2

71087044491. 3

71087044492. 4

Question Number : 53 Question Id : 71087011169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

GeddiH® Albdd (G-YIgugHe eafby) feUs ga® & ?
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Options :

71087044489. 1
71087044490. 2
71087044491. 3
71087044492. 4

Question Number : 54 Question Id : 71087011170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Hegemonic Stability Theory (HST) propounds that
A. The rise of Hegemon is inevitable within the international system.
B. The presence of a Hegemon is imperative for the stability of the international system.

C. The rise of the Hegemon gives cause for the rise of other Hegemons within the international

system.
D. The rise of one Hegemon carresponds with the decline of the existing hegemon.
Choose the most appropriate answer from the options given below:

1. A and C only
2. B only

3. D only

4. C and D only
Options :
71087044493. 1
71087044494. 2
71087044495. 3
71087044496. 4

Question Number : 54 Question Id : 71087011170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. HaAA R C
2. ®ad B

3. ®ada D

4. &dd C AR D
Options :
71087044493, 1
71087044494, 2
71087044495. 3
71087044496 4

Question Number : 55 Question Id : 71087011171 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il
A. NAM Lusaka Summit  |l. 1986
B. NAM Harare Summit  |Il, 1964
C. NAM Cairo Summit 1. 1973
D. NAM Algeria Summit  |IV. 1970

Choose the correct answer from the options given
below:

1TLA-W,B-1,C-1IL,D-1
2ZA-1LB-IV,C-1,D-1
3A-NLB-ILC-1,D-1IV
Options :

71087044497. 1
71087044498. 2
71087044499. 3
71087044500. 4

Question Number : 55 Question Id : 71087011171 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt - | B Gl - 11 ¥ Yafd difo

el el
A THUTH, TS BRI G5 |l 1986
B. T1.U.UH, R fRrer gHieH 1, 1964
C. U9.0.0H, HIied BrRay THaT |l 1973
D. TA.ETH, Jouiad RME 9&a4 IV, 1970
id feu 77u fadedl © ¥ U8l IR 9T

TA-W,B-1,C-1,D-11
ZA-1,B-IN,C-1,D-1lI
JA-ULB-ILC-1,D-V
4 A-1,B-N,C-IV,D-Il
Options :

71087044497. 1
71087044498. 2
71087044499. 3
71087044500. 4

Sub-Section Number : 2
Sub-Section Id : 710870329
Question Shuffling Allowed : Yes

Question Id : 71087011172 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (56 to 60)
Question Label : Comprehension



Read the given passage carefully and answer the questions that follow

The realist critique of the International Society approach rests on a deep scepticism that there
is an ‘international society’ as Hedley Bull characterizes it: a group of states that 'conceive
themselves to be bound by a common set of rules in their relations with one another, and
share in the working of common institutions'. Realists believe that states are bound only by
their own national interests. Where is the evidence, realists ask, that states are also 'bound by
certain rules... that they should respect one another’s claims to independence, that they should
honour agreements into which they enter, and that they should be subject to certain
limitations in exercising force against one another'? Realists are sceptical that states really
behave that way. States may respect such rules, but only because it is in their interest to do so.
If it is not deemed te be in their interest they are not likely to respect them. Realists, thus, see
states as being bound by a common set of rules in their relations with one another as long as
there is an advantage in deing that. When there is conflict between international obligations
and national interests the latter will always win, because the fundamental concern of states is
always their own advantage and ultimately their security and survival. That is the concern that
guides foreign policy.

Sub questions

Question Number : 56 Question Id : 71087011173 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

International Society approach is associated with:

1. Hedley Bull
2. M. Wight

3. H. Butterfield
4. Joseph Nye
Options :



71087044501. 1
71087044502. 2
71087044503. 3
71087044504. 4

Question Number : 57 Question Id : 71087011174 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among the following have criticised International society approach?

1. Nationalists
2. Positivists
3. Realists

4, Marxists
Options :
71087044505. 1
71087044506. 2
71087044507. 3
71087044508. 4

Question Number : 58 Question Id : 71087011175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement |: Realists believe that states are bound only by their own national interests.

Statement lI: Realists see states as being bound by a common set of rules in their relations
with one number.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

71087044509. 1

71087044510. 2

71087044511. 3

71087044512. 4

Question Number : 59 Question Id : 71087011176 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who among the following, will win when there is conflict between international obligations
and national interest?

1. International obligations
2. International organisations
3. National interest

4. International security
Options :

71087044513. 1



71087044514. 2
71087044515. 3
71087044516. 4

Question Number : 60 Question Id : 71087011177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The fundamental concern of states is always their

A. own advantage

B. security and survival

C. territorial integrity

D. obligations towards ethnic groups

Choose the correct answer from the options given below:

1. A and D only
2. A and B only
3.Cand D only
4. B and D only
Options :
71087044517. 1
71087044518. 2
71087044519. 3
71087044520. 4

Question Id : 71087011172 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (56 to 60)

Question Label : Comprehension
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Sub questions

Question Number : 56 Question Id : 71087011173 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HRIETE FAS IUFH 1 § Hafta & -

1. 88dl g

2. UH, digd

3. T4, §R(heg
4, % AL
Options :
71087044501. 1
71087044502. 2



71087044503. 3
71087044504. 4

Question Number : 57 Question Id : 71087011174 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frafeiad # 9 fow SfoRiPTg THIe SUNTH B A B g ?
1. AAEd] qﬂﬁlif

2. Taganeal 4
3. gyriarear 4
4, AEEaredl A
Options :
71087044505. 1
71087044506. 2
71087044507. 3
71087044508. 4

Question Number : 58 Question Id : 71087011175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044509. 1
71087044510. 2
71087044511. 3
71087044512. 4

Question Number : 59 Question Id : 71087011176 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. ATRIFTY A
Options :
71087044513. 1



71087044514. 2
71087044515. 3
71087044516. 4

Question Number : 60 Question Id : 71087011177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4 HAABAD
Options :

71087044517. 1
71087044518. 2
71087044519, 3
71087044520 4

Sub-Section Number : 3
Sub-Section Id : 710870330
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 71087011178 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The concept of north-south division was popularized by which one of the following leaders?

1. Hitler

2. Willy Brandt

3. Helmut Kohl
4. Angela Merkel
Options :
71087044521. 1
71087044522, 2
71087044523. 3
71087044524. 4

Question Number : 61 Question Id : 71087011178 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. fgeR

2. focit sie

3. B B
4, TSl qdha
Options :
71087044521. 1
71087044522. 2
71087044523. 3
71087044524. 4

Question Number : 62 Question Id : 71087011179 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The task of establishing a new world order after the second world war fell on the
hands of the US and the Soviet Union.

Reason R: The Presidents of the US and the Soviet Union not only coordinated war plans but
also laid plans for a post-war settlement.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087044525. 1

71087044526. 2

71087044527. 3

71087044528. 4

Question Number : 62 Question Id : 71087011179 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044525. 1

71087044526, 2

71087044527. 3
71087044528. 4

Question Number : 63 Question Id : 71087011180 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
‘Cherry Blossom' a rocket-powered, human-guided anti-shipping missile was developed

during WW || by which country?

1. China

2. Japan

3. Germany
4, France



Options :

71087044529. 1
71087044530. 2
71087044531.3
71087044532. 4

Question Number : 63 Question Id : 71087011180 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4.
Options :
71087044529. 1
71087044530. 2
71087044531. 3
71087044532. 4

Question Number : 64 Question Id : 71087011181 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who among the following said, "states appear as imagined and socially constructed
communities"?

1. Ernest Gellner

2. Benedict Anderson
3. Max Weber

4, Auguste Comte



Options :

71087044533. 1
71087044534.2
71087044535. 3
71087044536. 4

Question Number : 64 Question Id : 71087011181 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087044533. 1
71087044534, 2
71087044535, 3
71087044536. 4

Question Number : 65 Question Id : 71087011182 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who among the following, stated that 'the end of the Cold War simply ensured that the values
and lifestyles of the victors would be diffused throughout the globe much more effectively.'?

1. George Sorensen
2. D. Reynolds

3. E. Said

4. M. Cox

Options :



71087044537. 1
71087044538. 2
71087044539. 3
71087044540. 4

Question Number : 65 Question Id : 71087011182 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087044537. 1
71087044538. 2
71087044539. 3
71087044540. 4

Question Number : 66 Question Id : 71087011183 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The end of the Cold War was to make an end to conflicts between the blocs
whereby power politics and bipolarity would cease to exist.

Reason R: The post-Cold war world provide scope for a multipolar world with emphasis on the
cooperative institutions.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087044541. 1

71087044542. 2

71087044543. 3

71087044544. 4

Question Number : 66 Question Id : 71087011183 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044541. 1
71087044542, 2
71087044543. 3
71087044544. 4

Question Number : 67 Question Id : 71087011184 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The idea of nationalism was a movement from below which grew out of identity
and consciousness of larger communities in case of Yugoslavia.

Reason R: The possibility that nationalism could be imposed from above with the elites
controlling them in order to secure political support is also a feature of nationalism today.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087044545. 1

71087044546. 2

71087044547 3

71087044548. 4

Question Number : 67 Question Id : 71087011184 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044545, 1

71087044546 2

71087044547. 3
71087044548. 4

Question Number : 68 Question Id : 71087011185 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following typology of states was proposed as a result of state transformation due
to globalization?

A. Post-modern states

B. Modernizing state

C. Colonial states

D. Post-colonial states

Choose the correct answer from the options given below

1. A and B only
2. B and C only
3. Cand D only
4. D and A only
Options :
71087044549. 1
71087044550. 2
71087044551. 3
71087044552. 4

Question Number : 68 Question Id : 71087011185 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044549. 1
71087044550. 2
71087044551. 3
71087044552. 4

Question Number : 69 Question Id : 71087011186 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



North Atlantic Treaty Organisation (NATO) was created to

1. Influence European Nations to join Communism

2. Strengthen Western Europe’s resistance to Soviet influence
3. Safeguard Europe from joining capilalistic nations

4. Prevent East Europe from joining Soviet Union

Options :

71087044553. 1

71087044554. 2

71087044555. 3

71087044556. 4

Question Number : 69 Question Id : 71087011186 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
1 wedifed 1 HRAZERA (e S ™G &I 3537 Ul ;

1. T <21 ] HRI-eE T o[ & folE THIad &

2. Tifand UyTE &1 Ade- o 0 Ui gAY &1 gLad §9H1
3. XY 1 Yeilaral T 4 g5 4 §9H & g

4, 9df TRIY &I Gifadd A 4 e 9 991

Options :

71087044553. 1

71087044554. 2

71087044555. 3

71087044556. 4

Question Number : 70 Question Id : 71087011187 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which event ended the Thirty years Wars in Europe, and is regarded by many as the key event
ushering in the Contemporary International System?

1. The Peace of Westphalia (1648)
2. Treaty of Utrecht (1713)

3. Concert of Europe

4. Congress of Vienna

Options :

71087044557. 1

71087044558. 2

71087044559. 3

71087044560. 4

Question Number : 70 Question Id : 71087011187 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044557. 1

71087044558, 2

71087044559. 3

71087044560. 4

Question Number : 71 Question Id : 71087011188 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Which one of the following 'Four Tigers' was most closely connected to Japan historically and
economically?

1. South Korea
2. Taiwan

3. Hong Kong
4. Singapore
Options :
71087044561. 1
71087044562. 2
71087044563. 3
71087044564. 4

Question Number : 71 Question Id : 71087011188 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087044561. 1
71087044562. 2
71087044563. 3
71087044564. 4

Question Number : 72 Question Id : 71087011189 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The economic performance of the 'Four Tigers of Asia’ in the 1980s gave rise to which of the
following?

A. Indo - Pacific

B. ASEAN

C. Asian century

D. Pacific Rim

Choose the correct answer from the options given below

1. A and B only
2. B and C only
3. Cand D only
4. D and A only
Options :
71087044565. 1
71087044566. 2
71087044567. 3
71087044568. 4

Question Number : 72 Question Id : 71087011189 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044565. 1
71087044566. 2
71087044567. 3
71087044568. 4

Question Number : 73 Question Id : 71087011190 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following countries was labelled by US President George W.Bush as 'axis of

evil'?

1. South Korea
2. China

3. North Korea
4. Singapore



Options :

71087044569. 1
71087044570. 2
71087044571. 3
71087044572. 4

Question Number : 73 Question Id : 71087011190 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087044569. 1
71087044570. 2
71087044571. 3
71087044572. 4

Question Number : 74 Question Id : 71087011191 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List [l
A. NAM Lusaka Summit  |l. 1986
B. NAM Harare Summit 1. 1964
C. NAM Cairo Summit 1. 1973
D. NAM Algeria Summit  [IV. 1970

Choose the correct answer from the options given
below:

1.A-IW,B-1,C-1,D-1N
ZA-ILB-IV,C-1,D-1
JA-NLB-ILC-1,D-V
4 A-1L,B-ILC-IV,D-1I
Options :

71087044573. 1
71087044574. 2
71087044575. 3
71087044576. 4

Question Number : 74 Question Id : 71087011191 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 i Faii-1l & 9y GAferd ifor :

gal-1 Tql-Il

D SECE]

A. 3R, S&Y TaHY . SEHEAT NOgH ; 99 o, B4l R
B. TH.UH. e 1. Y 31 uaeyg e

C. G HHEHE A W@lad 1344 |1l § 3AgHice] HH 2"

D. Ud. 9139 V. 3faR TElad] Halgs

i feu U fasedl § 9§ Ugl IR 9T

TA-IILB-L,C-WV,D-1
2ZA-IVB-NILC-1I,D-1I
JA-ILB-LC-IILD-V
4 A-1,B-ILC-1LD-1V
Options :

71087044573. 1
71087044574. 2
71087044575. 3
71087044576. 4

Question Number : 75 Question Id : 71087011192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Percentage of China's major rivers that are classified as ‘being unsuitable for human contact
is'?

1. 70 %
2. 80 %
3. 60 %
4.50 %



Options :

71087044577. 1
71087044578. 2
71087044579. 3
71087044580. 4

Question Number : 75 Question Id : 71087011192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

4 @1 9= At &l fha- ufaxid AFd 90 & ol S ugad & -

1. 70 Hid=md
2. 80 Hfa=rd
3. 60 Hfd=rd
4, 50 Yid=rd
Options :
71087044577. 1
71087044578. 2
71087044579, 3
71087044580 4

Question Number : 76 Question Id : 71087011193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in ascending order as per the year of happening:
A. Establishment of People’'s Republic of China

B. Cultural Revolution

C. Opening up of China's Economy

D. Tiananmen Square incident

Choose the correct answer from the options given below

1A B CD
2.D,CB A
3.CABD
4B, D A C
Options :
71087044581.
71087044582.
71087044583.
71087044584.

AW N~

Question Number : 76 Question Id : 71087011193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T & g B SR MEtRad o ARIE $HH H Yoaaiyd ®1

A. T @1 Al TTURTE B RG]

B. Hi¥hidd P

C. T 1 Rjoua®Il DI WieH

D. AT 91 "eAl

A1 feu 7w faoedl # 9 el 3w 9y -

1.A B CD
2.D,C B A
3.CABD
4B, DA C

Options :

7108704458]1.
71087044582.
71087044583.
71087044584.

AW N~

Question Number : 77 Question Id : 71087011194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The process of economic globalization led to the formation of new social
movements throughout the world

Reason R: The social movements countered the increase in cases of inequality and the rise in
debts among the poor countries

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087044585. 1

71087044586. 2

71087044587. 3

71087044588. 4

Question Number : 77 Question Id : 71087011194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gl oy R TN § : U@ @l i@y (A) SR GHR &I ad (R) Pel T & :
HHBYH (A) : 31T dfiHR0r & Uishdl & BRI [y WR F U FHISS SHaloH! &l Gge- gofl

dd (R) : THEI® G - HTHF B Gl d TRId o=1| & He Soll o] 96 DI ge131] @l
a3y o)

Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GHT U8l € SIR (R), (A) B! Hol U 5
2. (A) 3R (R) GIFT Gal & 311% (R), (A) DI Ug! oURed Tal ol
3. (A) 981 & TR (R) ¥ol T &

4. (A) H8l 76l € 0] (R) HE1 €

Options :

71087044585. 1

71087044586. 2

71087044587. 3
71087044588. 4

Question Number : 78 Question Id : 71087011195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The 'Washington Consensus’ was adopted by:

1. USA

2. European Unicn

3. 5CO

4. IMF and World Bank
Options :

71087044589. 1
71087044590. 2
71087044591. 3



71087044592. 4

Question Number : 78 Question Id : 71087011195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
IR HUgY [Hgd gRI 39T 747 4T ?

1. TG T ARSI

2. TR g

3. g Al 3

4. AP H21 P19 9 3% 9

Options :

71087044589. 1
71087044590. 2
71087044591. 3
71087044592. 4

Question Number : 79 Question Id : 71087011196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which US-led regional security organization, underwent a fundamental revamp of its founding
concept at the 50th-anniversary summit of its inception?

1. GATT

2. NATO

3. OAS

4. SEATO
Options :
71087044593. 1
71087044594. 2
71087044595. 3



71087044596. 4

Question Number : 79 Question Id : 71087011196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

B G 3ERST 9@ a1 &g RET e + 30 5047 quiie & RRER G & URY TR 30
RO B JHTYRUI ST Hoyd Y= fbar

1.71¢ GEdd)

2. ATl (T30
3. 3T (37109,

4. Tier (@g3udra)
Options :
71087044593. 1
71087044594. 2
71087044595. 3
71087044596, 4

Question Number : 80 Question Id : 71087011197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who among the following, coined the term' Third Wave' in relation to democratic transitions
worldwide?

1. Joseph Nye Jr.

2. David Held

3. Samuel Huntington
4. Henry Kissinger
Options :
71087044597. 1
71087044598. 2
71087044599. 3



71087044600. 4

Question Number : 80 Question Id : 71087011197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fgfafad o O fag4 'yS 99 Ues o [y diediEe gRad-l & de 3 71g1 82

1. S AT §HER
2. sldS g
4, g1 TR

Options :

71087044597. 1
71087044598. 2
71087044599. 3
71087044600. 4

Question Number : 81 Question Id : 71087011198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the main factor being emphasised in the state-centric security concept.

1. Economic concern

2. Academic concern

3. Military - bureaucratic concern
4. Human development

Options :

71087044601. 1

71087044602. 2

71087044603. 3



71087044604. 4

Question Number : 81 Question Id : 71087011198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U i Y& SaYRUN H 558 H87 RS W SR Qg1 771 8 39 SR &l UgdH

1. AHE WBHR

2. R GUoR

3. TR WHR
4. 74 f[dpry

Options :

71087044601. 1
71087044602. 2
71087044603. 3
71087044604. 4

Question Number : 82 Question Id : 71087011199 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which among the following US Administration, introduced the 'Empowering Local Partners to
Prevent Violent Extremism in the US' strategy?

1. Bush Administration

2. Clinton Administration
3. Obama Administration
4. Reagan Administration
Options :

71087044605. 1
71087044606. 2
71087044607. 3
71087044608. 4



Question Number : 82 Question Id : 71087011199 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ofateg smfte yere § € gD 39 939Uy &1 U4 & [T Y Teaiitel & AfeR &4
DI IOHIT T80 Di Ui 7

1. g YR
2. fdefes U=y
3. &I U
4, T U=
Options :
71087044605. 1
71087044606. 2
71087044607. 3
71087044608. 4

Question Number : 83 Question Id : 71087011200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following events in ascending chronological order
A. Restoration of Cambodian independence

B. Iran's seizure of Fac peninsula

C. Assassination of Anwar Sadat

D. Geneva Agreement between Afghanistan and Pakistan
Choose the correct answer from the options given below

1.ABCD
2B CDA
3.CB DA
4D, C A B
Options :
710870446009. 1
71087044610. 2
71087044611. 3
71087044612. 4

Question Number : 83 Question Id : 71087011200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad ge-rell & SRIE o5 H gayd o ;
A, SIS &1 TaFAdl B GRYTYAT
B. W13l WGy UR 5 &I A0

C. 3-d 9IGd @I 5l

D. B @ Uifeed & J8 S-al G931
i feu e f9eredl & § el Sw gHd

1.A B CD
2B CD A
3.C, B D A
4D, C A B

Options :

71087044609. 1
71087044610. 2
71087044611. 3
71087044612 4

Question Number : 84 Question Id : 71087011201 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Name the treaties signed in the year 1972:

A. Outer Space Treaty

B. Biological Warfare Treaty

C. Nuclear Non- Proliferation Treaty

D. Anti-Ballistic Missile Treaty

Choose the correct answer from the options given below

1. A and B only
2. A and C only
3. B and D only
4. B and C only
Options :
71087044613. 1
71087044614. 2
71087044615. 3
71087044616. 4

Question Number : 84 Question Id : 71087011201 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gy 1972 H gEI&d gu St & = o -
A, 33X WY ¢l

B. RO dRBGAR CIdl

C. GlaeraR H - Wifeih e ¢Idt

D. U¢1 sfeiEee Mg dict

i feu ¢ famedl # 9 wel I 9+

1. Had A 3R B
2. @A A AR C
3. @AAB AR D
4. HaAB AR C

Options :

71087044613. 1
71087044614. 2
71087044615. 3
71087044616. 4

Question Number : 85 Question Id : 71087011202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

A. Payload I. a nuclear bomb

B. Strategic weapons ||l. short-range nuclear battlefield weapons

C. Warhead Il. warheads carried over long distances

D. Tactical Weapons |IV. destructive power of a warhead

Choose the correct answer from the options given below:

T.A-1,B-I,C-1,D-1V
ZA-ILB-1L,C-1I,D-IV
3A-IV,B-IILC-I,D-1
4 A-ILB-IV,C-1ILD -1

Options :

71087044617. 1
71087044618. 2
71087044619. 3
71087044620. 4

Question Number : 85 Question Id : 71087011202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 i Faii-1l & 9y GAferd ifor :

gal-| gl-1l

A. TR (payload) | Uch URHIT] 9H

B TWIafo® AR || @H G & YA UG SR
C g Bf¥aR (war head) Il g5 BIUOR Tl gl ARG

D T ¥R (Tactical IV TS % oiddR & [dEdd
weapaons) G

i feu e fadedl & ¥ U8l IR 9T

T.A-1,B-I,C-1,D-1V
ZA-IV,B-1IILC-1I,D-1
3A-IV,B-IILC-I,D-1
4 A-ILB-IV,C-1ILD -1

Options :

71087044617. 1
71087044618. 2
71087044619. 3
71087044620. 4

Question Number : 86 Question Id : 71087011203 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il

A. Institutional Theory  |I. Samuel Huntington

B. Convergence Theory |Il. Rebecca Schiff

C. Agency Theory 1l Morris Janowitz

D. Concordance Theory (IV. Peter Feaver

Choose the correct answer from the options given below:

TA-1L,B-NILC-IV,D-1
ZA-1LB-1L,C-1I,D-V
JA-ILB-ILC-IV,D-I
4 A-IV,B-1U,C-1,D-1
Options :

71087044621. 1
71087044622. 2
71087044623. 3
71087044624. 4

Question Number : 86 Question Id : 71087011203 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 i Faii-1l & 9y GAferd ifor :

gal-| -1l

Risid ICEIEE]

A, S TegRHT Al | I3 efdre
B S-gord N I a1 RIEn
C Teid ARt 1l |IY Sfdes
D Dby Wl v UeX B
i fou e fadeal o § Ugl IwR gMu:

TLA-LB-U,C-IV,D-Il
2ZA-ILB-LC-1IILD-IV
SA-ILB-ILC-IV,D-|
4 A-IV,B-ILC-1,D-1l

Options :

71087044621. 1
71087044622. 2
71087044623. 3
71087044624. 4

Question Number : 87 Question Id : 71087011204 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

A. Haggani Network . Uzbekistan

B. East Turkestan Islamic movement |ll. Pakistan

C. Jaish- e-Mohammad ll. Xinjiang
0. Islamic Movement of Uzbekistan (IV. Af-Pak border

Choose the correct answer from the options given below:

TA-1L,B-ILC-I,LD-1V
ZA-W,B-1,C-1Il,D-1
JA-ILB-IV,C-1,D-1l
4 A-NLB-I,C-IV,D-Il
Options :

71087044625. 1
71087044626. 2
71087044627. 3
71087044628. 4

Question Number : 87 Question Id : 71087011204 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



] gl-1i
A, BFHH HCad . oaidEd
B. 3% g Slit® gate IRSIEESIES
C. W% - U - HigHg IAEIE
D. $XITH® HaHE 3B el |IV. HBINAH - TlidhwiE als3
i fou e fadseal o § Uel 9w gMu:

TA-LB-ILC-1IL,D-IV
2ZA-IV,B-ILC-ILD-|
SA-ILB-IWV,C-1,D-1l
4 A-ILB-L,C-IV,D-1l

Options :

71087044625. 1
71087044626. 2
71087044627. 3
71087044628. 4

Question Number : 88 Question Id : 71087011205 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the factor that does not determine nuclear capability of a state.

1. Size of nuclear arsenal

2. Territory

3. Nuclear Infrastructure

4. Tactical deployment stategy
Options :

71087044629. 1

71087044630. 2

71087044631. 3

71087044632. 4

Question Number : 88 Question Id : 71087011205 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

I HRS DI UgdH B ol Tod &1 GEI] &5 B! FeiRd 98 $ar s :

1. UH] AN Pl HlPR
2. &

3. QRHY] HYRYT 3T

4. AR gRIFEH WHET
Options :

71087044629. 1

71087044630. 2

71087044631. 3

71087044632. 4

Question Number : 89 Question Id : 71087011206 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The northern part of India has always been a troublesome region that proved
security problems for New Delhi.

Reason R : Northern states are relatively underdeveloped. Separatist and insurgent groups
have continued to wage armed struggles which originated during the British colonial rule.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087044633. 1

71087044634. 2

71087044635. 3

71087044636. 4

Question Number : 89 Question Id : 71087011206 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gl oy R TN § : U@ @l i@y (A) SR GHR &I ad (R) Pel T & :
HUYHYUT (A) : YRT BT SR T4 (BT Tad 20d &7 38T © 9l 73 facw & o8 GR&T THr &

b (R) : STRYA ol qoHTeId ¥4 § Hedlddiad o | Howd 5] @ fdgle! 998 FLa? 8lUaR 95
ggRd & ot fafewr Iufdfie &a & vag 304 gu |

Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 31X (R) GHFT Tl & 31X (R), (A) B! el ARAT &
2. (A) ¥R (R) GHI T8I € &R (R), (A) DI Uel SRAT 751 5|
3. (A) 981 & TR (R) ¥ol T &

4. (A) H8l 76l € 0] (R) HE1 €

Options :

71087044633. 1

71087044634. 2

71087044635. 3
71087044636. 4

Question Number : 90 Question Id : 71087011207 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The Human development report noted that the concept of security mainly
signified territorial security from external aggression and protection of national interest
without securing the common people’s life from threats and fears.

Reason R: Security symbolized overall protection against threats of disease, hunger,
unemployment, political impression of the people in general.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087044637. 1

71087044638. 2

71087044639. 3

71087044640. 4

Question Number : 90 Question Id : 71087011207 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gl oy R TN § : U@ @l i@y (A) SR GHR &I ad (R) Pel T & :

HYEHYH () ; T4 fdrg KUl Iccifad Bl ¢ fob YR&T D1 ATYRU 3HTH O & Slig Bl gHD!
g H7 9 &1 Y 18711 61 STexl 3Mehavl ¥ &Y GRef g APH fodl &1 36 DI HBIa: UReiad SRl
2l

d (R) : R&M 4 GHEFIG: TR ol I, Y&, SISATR], Sl &1 eI ad 6o 3 47! & (o
Ul 34T BT FidiRy fod g

Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GHT U8l € SIR (R), (A) B! Hol U 5
2. (A) 3R (R) GIFT Gal & 311% (R), (A) DI Ug! oURed Tal ol
3. (A) U8l & IRg (R) ¥l T2l &

4. (A) H8l 76l € 0] (R) HE1 €

Options :

71087044637. 1

71087044638, 2

71087044639. 3
71087044640. 4

Question Number : 91 Question Id : 71087011208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Father of ' Modern Law of Nations ' is

1. JJ Brierty

2. Hugo Grotius
3. Aristotle

4. Ploto
Options :



71087044641. 1
71087044642. 2
71087044643. 3
71087044644. 4

Question Number : 91 Question Id : 71087011208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

P Gatl YD BT P UldUES DI U7

i
i

2B
3. A

4, el
Options :
71087044641. 1
71087044642. 2

71087044643. 3
71087044644. 4

Question Number : 92 Question Id : 71087011209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The number of extreme weather conditions is increasing rapidly and the climate
crisis is ravaging the farm sector and depleting water resources.

Reason R: India will see increase in migration of people from one region to another region
because of climate changes.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087044645. 1

71087044646. 2

71087044647. 3

71087044648. 4

Question Number : 92 Question Id : 71087011209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



:ﬁ%ﬁﬁﬁﬂﬁﬁmg:

HYH-1 : Hig ®1 939 Rl & Se & oo ¥ 39S 81 B € 9IR Saag @ By &3 $I [
R TE1 & 3R o GErYHT & wR H fiRge @ wi Bl

HY- : Serarg H IRl & PR HRA H U &5 © GO & H Uarg | gl 5|
Suddad HYAl & faie | it [deedl & U 98l 3w 91 :

1. DY | 3R 1| GHT gl
2. Y | 3R || GFf Tad &
3. BYH-1 9 8, foog dY-11 Ta7d B
4. DYH-| A 8, foog HYH-11 a1 B

Options :

71087044645. 1
71087044646. 2
71087044647. 3
71087044648. 4

Question Number : 93 Question Id : 71087011210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
As per the estimate of 2020 world Migration Report, the number of new internal
displacements across 148 countries and territories is :

1. 10 million
2. 15 million
3. 20 million
4. 28 million



Options :

71087044649. 1
71087044650. 2
71087044651. 3
71087044652 4

Question Number : 93 Question Id : 71087011210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
dts AURM RO 2020 & HTUR 148 &1 AR YHFT H U fdRe® Gwftd anrt &1 9& e

1. 10 Taferga
2. 15 Tferaq
3. 20 Tferq
4. 28 THfeoA
Options :
71087044649. 1
71087044650. 2
71087044651 3
71087044652 4

Question Number : 94 Question Id : 71087011211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

A. Truman Doctrine |l Henry Luce

E. Marshall Plan 1. Winston Churchil

C. American Century [lll. George Marshall

D. Iron Curtain V. Harry Truman

Choose the correct answer from the options given below:

TA-1L,B-ILC-I,LD-1V
ZA-W,B-1,C-1Il,D-1
33A-IV,B-1I,C-1,D-1i
4 A-NLB-I,C-IV,D-Il
Options :

71087044653. 1
71087044654. 2
71087044655. 3
71087044656. 4

Question Number : 94 Question Id : 71087011211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 i Faii-1l & 9y GAferd ifor :

gal-| -1l

A. THA SifdeA . BN TOH

B. \I=ld @H 11, fa=e aida
C. R = 1. Sifel ArRic
D. HIZIH Ted V. B3 THA
i feu T f9eedl § 9 98l o g

T.A-1,B-I,C-1,D-1V
ZA-IV,B-1ILC-IL,D-1
3A-IV,B-IILC-I,D-1
4 A-1LB-I,C-IV,D-1

Options :

71087044653. 1
71087044654. 2
71087044655. 3
71087044656. 4

Question Number : 95 Question Id : 71087011212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in ascending chronological order with the help of given codes
A. Declaration of the Principles of International Cultural Cooperation.

B. Proclamation of Tehran on human rights.

C. Declaration of Principles of Tolerance.

D. Declaration on the Human Genome and Human Rights.

Choose the correct answer from the options given below

1A B CD
2B CDA
3.CDB A
4D A CD
Options :

71087044657.
71087044658.
71087044659.
71087044660.

AW O~

Question Number : 95 Question Id : 71087011212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafad o SRS SO ATIR Taieyd Hifel :
A. JRIBIY Gikpiie Fgar & fGsid Bi 9y

B. A4 USRI & g H g 9o

C. Gg-TaiiTidl & f&egid ot giyon

D. {9 SiFH 3R §Hd USRI & 9 # 9o
i feu ¢ famedl # 9 wel I 9+

1.A B CD
2B CD A
3.C, D B A
4D A CD

Options :

71087044657. 1
71087044658. 2
71087044659. 3
71087044660. 4

Sub-Section Number : 4
Sub-Section Id : 710870331
Question Shuffling Allowed : Yes

Question Id : 71087011213 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)
Question Label : Comprehension



Read the following passage and answer the questions

The UN is the one truly multilateral Organization of great note that is prominent in
international democracy promotion. Its contribution ranges from broad statements of support
for democratic values by the office of the Secretary-General to a considerable practical
experience in helping stages, monitor, and observe elections, especially in new states. Within
the UN family, the UNDP is one of the largest actors- around three-quarters of its spending on
democratic governance comprises investment in making democratic institutions more
accountable and responsive to citizens. A separate UN Democracy Fund was established in
2005 and has since attracted donations from thirty - five states. UN involvement does not
guarantee freedom from controversy: in October 2009, an UN-backed independent Electoral
Complaints Commission in Afghanistan fuelled ructions in that country's relations with the
west by confirming evidence of the substantial fraud in the re-election of the President Karzai
two months earlier.

Sub questions
Question Number : 96 Question Id : 71087011214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0



The contribution of the UN includes:

A. promotion of solidarity

B. support for democratic values

C. monitoring and cbserving elections in new states

D. spreading hard power diplomacy

Choose the correct answer from the options given below:

1. A and D only
2. A and B only
3. B and C only
4. C and D only
Options :
71087044661. 1
71087044662. 2
71087044663. 3
71087044664. 4

Question Number : 97 Question Id : 71087011215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Three quarters of UN spending on democratic governance is channeled through :

1. Security Council

2. UN General Assembly
3. ECOSOC

4. UNDP

Options :

71087044665. 1



71087044666. 2
71087044667. 3
71087044668. 4

Question Number : 98 Question Id : 71087011216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The UN Democracy Fund was established in the year:

1.1848

2. 2005

3. 2011

4. 2018
Options :
71087044669. 1
71087044670. 2
71087044671. 3
71087044672. 4

Question Number : 99 Question Id : 71087011217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following multilateral organs is prominent in the promotion of international
democracy?

1. UN

2. NATO

3. Human Rights Watch

4. Endowment of Democracy
Options :

71087044673. 1

71087044674. 2

71087044675. 3



71087044676. 4

Question Number : 100 Question Id : 71087011218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following UN-backed commission had confirmed evidence of fraud in the Afghan

election?

1. Electoral Complaints Commission
2. General Assembly

3. UNDP

4. ECOS0OC

Options :

71087044677. 1

71087044678. 2

71087044679. 3

71087044680. 4

Question Id : 71087011213 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)
Question Label : Comprehension



= f3u e e & ufew ofty wat & 39w S :

TYe P U= o H Ue fd - Ry Sgusiy 9ed €, S AR diedd B Uided o |
Ui 21 SUB] GNTEH U HerNTd R diedd & Hedl & 9 1 9aae 3 § 9o [Ny
Y Y Il H g9 o SIS, a1 R HaU H Yedl - | I HEeiRG HIHd &
SR s TE1 81 $gad P URER & Hidk guH.S1Ul. 98 93 Sdisil (Uaed) § ¥ & &, ©l
Al diE® MY IR dF - diUls o0g $d1 380 ¢, o Sfavid dibditae Y13l o] AFR®! &
uld <1f8® SaEae AR BRI 999 & fou Faw féar a1 g1 2005 § U gus 4.
el BN I faar 7Ty 3R dd § 35 <91 4 564 g f&u1 31 955 Uy &1 YrieR! fade |
qigd $1 RS UaH 81 B : SAagaR 2000 H ABMHAEH H Fad Y - YAHT WA gl
fRITad RT & HRU 5Y oX & Uil 571 & 91y Geul W 8l - goc 991 U1, 99 994 39 &l
HIE 4 Pl BoTs & a1 9 O H YRT =0 & §18d B giP B 4

Sub questions

Question Number : 96 Question Id : 71087011214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFaffad # 4 & 9 4y Ty & grTeH H SiEfia ® 2
A. Uholedl &l HicTg

B. diddiiad Hedl & J9d4

C. U Al (G=M) H gAIGT B Al 3R Uau)

D. BT UIaY Fe-id &1 TR

i feu ¢ famedl # 9 wel I 9+

1. Had A AR D
2. HaAAA AR B
3. HaAB AR C
4. %dd C AR D

Options :

71087044661. 1
71087044662. 2
71087044663. 3
71087044664. 4

Question Number : 97 Question Id : 71087011215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



YT AW GRT 75 Y Ao dlddiie TrE- 1R o0y fedd ATeH 4 e fodl ol & ;

1. R4 URug

2. TYdd UF HrHH
3. .41 3 g e .
4. QU3
Options :
71087044665. 1
71087044666. 2
71087044667. 3
71087044668. 4

Question Number : 98 Question Id : 71087011216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HYad I Ticd 21N B [ F g8 H WG &1 715 o -

1.1848

2. 2005

3. 2011

4. 2018
Options :
71087044669. 1
71087044670. 2
71087044671. 3
71087044672. 4

Question Number : 99 Question Id : 71087011217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFrafeiad # 9 o9 976 SIS didad ®f Uiele- o H UHE g ?

1. HYgE Y

2. ATl (T30

3. QA AgeH drd

4, SIgHE 3 SHiHH!
Options :

71087044673. 1
71087044674, 2
71087044675. 3
71087044676. 4

Question Number : 100 Question Id : 71087011218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFafafad o 9 fog dgad Ip-wafdd S 3 e 3 g4 H Ui & 9180 BT g &1 ot 2

1. GG I A
2, HEEHT

3. 4uA Sl

4, T4 T A
Options :
71087044677. 1
71087044678. 2
71087044679. 3
71087044680. 4

Sub-Section Number : 5
Sub-Section Id : 710870332
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 71087011219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: India has neither signed the Nuclear Non-Prolifeatured Treaty (NPT) nor ratified
it.

Reason R: India has signed the comprehensive Test Ban Treaty (CTBT) but not ratified the
same,

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087044681. 1

71087044682. 2

71087044683. 3

71087044684. 4

Question Number : 101 Question Id : 71087011219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



:ﬁ%ffﬁﬁﬂﬁ?m%:
TYH-| : HRd A T HIGR A (@.41.8) IR 1 a1 55a1&R (B 3R 7 81 3@l gHG [adl|

HYF-1 : HRd - TGP GRAT] Gie0r oy ofY (@ 4 &) | gwaer 5 § ol s
SFgAIG el |

Iudad HuHl & 3freiie H Fgifd fdmedl § 4§81 Iw I -

1. Y | AR || GFT T8l el

2. YT | 3R 11 GFf 981 el 8

3. BYH-1 981 &, fbq DYH-11 UL 7ol o

4. DYH-| Uel 15! 8, fdowq Y- el B

Options :

71087044681. 1
71087044682. 2
71087044683. 3
71087044684. 4

Question Number : 102 Question Id : 71087011220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: India has participated in both the JAI' and 'RIC’ formulates of major powers
coming together.

Reason R: Indian foreign policy is now endeavoring to proactively shape it's near and extend
neighborhood and perceive multi alignment and harmonized balance in relations with major
power as its operating principle.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087044685. 1

71087044686. 2

71087044687. 3

71087044688. 4

Question Number : 102 Question Id : 71087011220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gl oy R TN § : U@ @l i@y (A) SR GHR &I ad (R) Pel T & :

HHYH (A) : UL WfGadl &1 TP WY M4 B Uiauiied o T35’ 9 3R 315 4 giAf § URd
yfaHmf 21

dd (R) : HRAIG faewr -iifd o uraeH Rsid & S8R 3 3{u- Hdedd g faxaila usifyal &t
lshd SATHR & [ WARRA & 3R 98 Sa| Aigadl & 9y Yaui § g Taie- g gAfed o @
EEIGIE

Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GHI T8l € 3R (R), (A) &I el R
2. (A) 3R (R) GHFT T&l & 3R (R), (A) T UE! AR Tl |
3. (A) 981 & TR (R) ¥ol T &
4. (A) FE1 781 © X (R) Hel o

Options :

71087044685. 1
71087044686. 2
71087044687. 3
71087044688. 4

Question Number : 103 Question Id : 71087011221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

A. Indo-US natural Alliance I. Donald Trump

B. Communication Compatibility and security agreement (COMCASA) |Il. George W, Bush

C. International Security Annex (ISA) ll. Barack Obama

D. Logistics Exchange Memorandum of Agreement (CEMOA) IV. Bill Clinton

Choose the correct answer from the options given below:

TA-1L,B-ILC-I,LD-1V
ZA-N,LB-1,C-1,D-V
33A-IV,B-1I,C-1,D-1i
4 A-ILB-IV,C-1,D-1I
Options :

71087044689. 1
71087044690. 2
71087044691. 3
71087044692. 4

Question Number : 103 Question Id : 71087011221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 i Faii-1l & 9y GAferd ifor :

gal-| -1l
BEEll ﬂm{ |

A. 381 - TF AR AR . SIS 70
B. DY difefafed te e wide @ off |1 9e 8y
AT ) g
S N NG e I1l. sRTh

| HiamT

D. TiTee s UaTdsl HANSH 1% TiHe (U6 3 UH 31 J) %‘ﬁﬁ

i fou e fadeal o  Ugl 9w gMu:

TA-LB-ILC-1IL,D-IV
ZA-IILB-L,C-1II,LD-IV
3A-IV,B-ILC-1,D-1
4 A-ILB-IV,C-1,D- 1l

Options :

71087044689. 1
71087044690. 2
71087044691. 3
71087044692 4

Question Number : 104 Question Id : 71087011222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



India’s Draft Nuclear Doctrine is based on the principles of which of the following :
A. Strategic Autonomy

B. Strategic Ambiguity

C. Strategic Hegemony

D. Strategic Restraint

Choose the correct answer from the options given below:

1. A and B only
2. A and D only
3. A and C only
4. C and D only
Options :
71087044693. 1
71087044694. 2
71087044695. 3
71087044696. 4

Question Number : 104 Question Id : 71087011222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



YRd B Y] [gia FHie) AafeRad § ¥ (o9 Joda W sl g 2
A. IO TEra

B. YUMHITd® RGP

C IS T

D. T0FiTcid Ofcia

el fu e fawed! & @ 9 S g -

1. Had A 3R B
2. BaA A AR D
3. @A A AR C
4. &dd C AR D

Options :

71087044693. 1
71087044694. 2
71087044695. 3
71087044696. 4

Question Number : 105 Question Id : 71087011223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
India is an 'Observer' Member at which of the following groupings?

1. Shanghai Cooperation Organization (SCQO)

2. Asia Pacific Economic Cooperaticn (APEC)

3. Community of Latin American and Caribbean States (CECAC)
4. Asean Regional Forum (ARF)



Options :

71087044697. 1
71087044698. 2
71087044699. 3
71087044700. 4

Question Number : 105 Question Id : 71087011223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafafaa &ia e o ° e YRd e ‘1aide® Gad b ¢

1. I3 BIULTH HFHZERH (TF IF 3f)

2. U Uffhe s if® SiueE (@ 3 )

3. HRIICT P afe smfte Us HRfvgy weg @ 3 H v
4. ATEE NeiEd BRE (E.3R.IH,)

Options :

71087044697. 1
71087044698. 2
71087044699. 3
71087044700. 4

Question Number : 106 Question Id : 71087011224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of these strategic initiatives of India in its extended neighborhood, partners with
the Japanese framework of partnership of Quantity Infrastructure (PQC)

1. Look East Policy (LEP)

2. Security and Growth for All in the Region (SAGAR)
3. Free and Open Indo Pacific (FOZP)

4. QUAD

Options :

71087044701. 1

71087044702. 2

71087044703. 3

71087044704. 4

Question Number : 106 Question Id : 71087011224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Wﬁﬁ?ﬂﬁmﬁ?ﬂaﬁﬁﬁ 4 orif® v & ford S9E o Turadl IRe AUl &
fere Treierl (e, 312 & SI9R YRIER & ;

1. Y T el @as )

2. Togfed] Us U1y B 3{ic 349 § J9H (GFR SAGAR)
3. W1 U8 {10 S8 giferdl (T, 315801
4.9 g U el

Options :

71087044701. 1
71087044702. 2
71087044703. 3
71087044704. 4

Question Number : 107 Question Id : 71087011225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Which Asian nation, expressly considers India, its third neighbor?

1. Bhutan

2. Mangolia

3. Japan

4. Mauritius
Options :
71087044705. 1
71087044706. 2
71087044707. 3
71087044708. 4

Question Number : 107 Question Id : 71087011225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fafiad 3 9 &1 91 R Uy YR & Wy U Y 0T 319 USiH AT g 7

1 3e
2. HaTiferan
3. §AH

4. ANEE

Options :

71087044705. 1
71087044706. 2
71087044707. 3
71087044708. 4

Question Number : 108 Question Id : 71087011226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

List | List Il

Foreign Policy Doctrine Leader

A. Multialignment and Balance in Regional Relations |I. P.V Narasimha Roa

B. Diversification in Foreign Policy Il. Atal Behari Vajpayee
C. Composite Dialogue Process lIl. Inder Kumar Guijral
D. Non-Reciprocal engagement V. Narendra Modi

Choose the correct answer from the options given below:

TA-LB-ILC-1LD-IV
ZD-LE-B- AV
ZB-iA-ILD-MLC-V
4 A-IV,B-I,C-1,D- 1
Options :

71087044709. 1
71087044710. 2
71087044711. 3
71087044712. 4

Question Number : 108 Question Id : 71087011226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 i Faii-1l & 9y GAferd ifor :

gal-| gal-1l

A. &5 UeYl § 95 YhioH @ 9qod |1 9 i RRme e
B. fagw ifq o fafaeman I1.3fe fagr arerud
C. GHidhd Harg ufsedn 111, 3% PHR ORI
D. TR UREf¥a e V. g =il

i fou e fadeal o  Uel IwR gMu:

TA-LB-ILC-1IL,D-IV
2D-LE-IB- (LAY
3B-ILA-ILD-NMLC-IV
4 A-IV,B-I,C-1I,D- 1l

Options :

71087044709. 1
71087044710. 2
71087044711. 3
71087044712. 4

Question Number : 109 Question Id : 71087011227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Indian Foreign Policy in contemporary times, has transitioned from "Panchsheel’
(five Principles) to 'Panchamrit’ (Five Elements).

Reason R : Samvaad, Samman, Suraksha, Samridhhi and Sabhyata evam Sanskriti have
emerged as the new pillars of Indian Foreign Policy formulation and conduct.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087044713. 1

71087044714. 2

71087044715. 3

71087044716. 4

Question Number : 109 Question Id : 71087011227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gl oy R TN § : U@ @l i@y (A) SR GHR &I ad (R) Pel T & :

HBYT (A) : GHSTCIH G99 H HRAY fagwr Hifd, d=xiiar (ui= Regia) 9 domd (uid o) o
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Options :

71087044713. 1
71087044714. 2
71087044715.3
71087044716. 4

Question Number : 110 Question Id : 71087011228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following Integration groupings in ascending order
A. Bay of Bengal Integrated Multi-Sectoral Technical

B. South Asian Association for Regional Cooperation

C. Bangladesh Bhutan India and Nepal (BBIN)

D. Ganga Mekong Sub Regional Cooperation

Choose the correct answer from the options given below

1.ABCD
2CABD
3.B,ADC
4D, C A B
Options :
71087044717. 1
71087044718. 2
71087044719. 3
71087044720. 4

Question Number : 110 Question Id : 71087011228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad gaTdH e 998! @I 3RIe! ®H H sHaiyd o :

A. S 3T® 70 ST Aedl Uaeiiiga iamd US SoiAITHe HIudH (@38 taradsd)
B. TT3Y TR TIRyuEH BR RfoHd BiuiEH (T, TR )

C. SIVIGRT {2 51591 U8 ~ure (4.4 3Ms.e)

D. T H& i 99 Rfoa SIUEE GL.TH.4)

- feu e famedl & 9 9l W g :

1.A B CD
2CABD
3.B.ADC
4D, C A B

Options :

71087044717. 1
71087044718. 2
71087044719. 3
71087044720. 4

Question Number : 111 Question Id : 71087011229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The priority of Mekong Ganga Cooperation (MGC) was to develop

1. Northern States of India

2. Indian-Thailand Relations

3. Indian-Myanmar Relations

4. Connectivity between Northeast India and Southeast Asia
Options :

71087044721. 1

71087044722. 2

71087044723. 3

71087044724. 4

Question Number : 111 Question Id : 71087011229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HeH 1T - TN WedNT (THSILEL) B UiEel HEiEtad § 9 fhue] Geihd s $1 3

1. Y¥q & 3TRYa| Ig
2. YT - UIscls |ey
3, YR FER gay

4, ITRUE! HRA AR Gféogd oiRm

Options :

71087044721. 1
71087044722. 2
71087044723. 3
71087044724. 4

Question Number : 112 Question Id : 71087011230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Which high profile multilateral Maritime Exercise is Australia keen to join in the Indo Pacific?

1. MACABAR

2. MICAN

3. India Brazil South Africa Maritime (IBSAMAR)

4. Singapore Thailand India Maritime Excercise (SITMEX)
Options :

71087044725. 1

71087044726. 2

71087044727. 3

71087044728. 4

Question Number : 112 Question Id : 71087011230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HRe e YR - Uiid & o fRufaRad § € oy 3= Hewyyl 9guaiig Sagl onar o gfifd
EH DI IHD € ?

1. AAER
2. T

3. Sfar, Feiia, HI3Y Sbi@] TICEH (3158109 L IH LR

4. TR, urEeis, 2f5a H{ersH UaEIEel (UH. 315,21 UH 5.0

Options :

71087044725. 1
71087044726. 2
71087044727. 3
71087044728. 4



Question Number : 113 Question Id : 71087011231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arrange the Crucial Events that radically influenced the International Relations of Southeast
Asian States in the 1970s in the chronologically ascending order

A. President Nixon's Visit to China

B. US withdrawal From Southeast Asia

C. Indian Pakistan War of 1971

D. Lee Kuan Yew visit to Beijing

E. Indonesian Role in ASEAN

Choose the correct answer from the options given below

1.A B D
2 A B E
2E D C
4 C A B
Options :
71087044729. 1
71087044730. 2
71087044731. 3
71087044732. 4

Question Number : 113 Question Id : 71087011231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



frafafed # 9 @ offd - Agagel gerstl = 1970 & oxi@ H clémgd tREs <X & siRipy
Gsef ol Alfeis U U UHIdd fobar o1 ? FHafciiRad fdgefl ®f RIS HH H ouafeyd Sifug :

A. Ty (e @1 94 - T

B. SR ZRT Glé0Tqd ufmm 9 g
C. 1972 H HRd - UlfbIH 4G

D. Tl I g @l §ifoiT - g

E. 3SR @1 g # YiFa

A1 feu 7w faoedl # 9 el 3w 9y -

1.A B D
2 A B E
3EDC
4. C A B

Options :

71087044729. 1
71087044730. 2
71087044731. 3
71087044732. 4

Question Number : 114 Question Id : 71087011232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il
A, Myanmar Joined ASEAN |l 1995
B. Vietnam Joined ASEAN  |Il. 1999
C. Brunei Joined ASEAN 1. 1984
D. Cambodia Joined ASEAN |IV. 1997

Choose the correct answer from the options given below:

TA-1L,B-I,LC-IV,D-1l
ZA-1LB-LC-IV,D-1
33A-WV,B-1.C-lILD-1
4 A-MLB-ILC-IV,D-1
Options :

71087044733. 1
71087044734. 2
71087044735.3
71087044736. 4

Question Number : 114 Question Id : 71087011232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gdi-1 Dl Gal-1l & Ty G Bifore ;

gal-| Tl-Il
A TOHER A g § gaw fear |1 1995
B. faaa=me = =igaE o wd=n faar |11 1999
C. gz 4 HagH o uaw fear 11, 1984
D. Tyl = H1fEgE § uaw 347 |Iv. 1997
i feu e fadedl © 4 U1 IR 9T

TA-1,B-I,C-1V,D-1
ZA-ILB-1LC-IV,D-1
3A-IV,B-1LC-IIl,D-1
4 A-1LB-ILC-IV,D-I

Options :

71087044733. 1
71087044734. 2
71087044735.3
71087044736. 4

Question Number : 115 Question Id : 71087011233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Indo-Pacific was first coined by

1. Karl Louis

2. Karl Lesu

3. Karl Noah

4. Karl Haushofer



Options :

71087044737. 1
71087044738. 2
71087044739. 3
71087044740. 4

Question Number : 115 Question Id : 71087011233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fafafaa 5 ¥ 594 S - tRifhe Trsarad & 9auys a1 &) i :

1. BId alay
2. DI o3
3. @Id A8
4. BT BISRIHR

Options :

71087044737. 1
71087044738. 2
71087044739. 3
71087044740. 4

Question Number : 116 Question Id : 71087011234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



‘Lion of Panjshir' refers to:

1. Gul buddin Hikmatyar
2. Burhanuddin Rabbani
3. Hamid Karzai

4, Ahmed Shah Masud
Options :

71087044741. 1
71087044742. 2
71087044743. 3
71087044744. 4

Question Number : 116 Question Id : 71087011234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

WA B UARR®] ol Iy & ;

1. Tag F BPHGIR
2. GREMgH &M

3. BIffiG Ty

4, EHE 9 796

Options :

71087044741. 1
71087044742. 2
71087044743. 3
71087044744. 4

Question Number : 117 Question Id : 71087011235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

East Asian Summit had its genesis in

1. ASEAN +4 process

2. ASEAN +3 Process

3. Indo-ASEAN relations
4, Indo-US relations
Options :

71087044745. 1
71087044746. 2
71087044747. 3
71087044748. 4

Question Number : 117 Question Id : 71087011235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ujﬂ QEI B3] iﬁ R Waﬁ '-EE-st -:-'|H EI i_aﬂﬁﬁwiﬁ

1. ARG +4 Uishdl
2. AGH +3 Ulshdl
3. YT - HITGgH g6y
4. YT - HR® 48y

Options :

71087044745. 1
71087044746. 2
71087044747. 3
71087044748. 4

Question Number : 118 Question Id : 71087011236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: For several years from its birth in 1967, ASEAN was an anti-communist and anti-
China organization.

Reason R: It was more like an association than an alliance.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087044749. 1

71087044750. 2

71087044751. 3

71087044752. 4

Question Number : 118 Question Id : 71087011236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gl oy R TN § : U@ @l i@y (A) SR GHR &I ad (R) Pel T & :

HFHHY (A) : 1967 H 304 5 Y T 3H$ g8 9 GRAaIG - i iR I - forieh dmaq
TET 7|

TP (R) : U8 U o6 & S9C Udh THITYUIH & g HfEE o1
Suddad HYAl & faie | it [deedl & U 98l 3w 91 :
(R) Gl Gl & 3R (R), (A) B! Tol AREAT o

(R) GHI W61 & 31K (R), (A) B TSl RS Tai o

8 IR R}Hﬁﬂ%"r%‘l
%‘Tﬁmﬂ R) H2l o

Options :

71087044749. 1
71087044750. 2
71087044751. 3
71087044752. 4

Question Number : 119 Question Id : 71087011237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

A. Bangladesh |l. Republica

B. Bhutan Il. The Daily Observer
C. Nepal lll. Kuensel

D. Sri Lanka  |IV. Daily Mirror

Choose the correct answer from the options given below:

TA-ILB=-ILC-1,D-1V
ZA-1,B-N,C-1I,D-V
3A-ILB-,C-N,D-1i
4 A-IV,B-1II,C-1ILD-1
Options :

71087044753. 1
71087044754. 2
71087044755. 3
71087044756. 4

Question Number : 119 Question Id : 71087011237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 i Faii-1l & 9y GAferd ifor :
] g1l

=9 THER -4
A siarear |1 Rufesa
B.YEH Il Sell 3ileoRaY

c.Auld . PAUd
D. §id®r  |Iv. STl FBERR
i fou e fadeal o Ugl IwR gMu:

TA-ILB-ULC-1,D-IV
2ZA-LB-I,C-1L,D-V
S3A-IILB-L,C-IV,D-1
4 A-IV,B-ILC-1L,D-1|

Options :

71087044753. 1
71087044754. 2
71087044755. 3
71087044756. 4

Question Number : 120 Question Id : 71087011238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Permanent Court of Arbitration (PCA) ruled in 2016, against China in adjudicating on a
maritime territorial dispute with which South East Asian neighbor?

1. Vietnam

2. Malaysia

3. Philippines
4. Brunei
Options :
71087044757. 1
71087044758. 2
71087044759. 3
71087044760. 4

Question Number : 120 Question Id : 71087011238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

WRAM= B¢ A6 fdee (@A) 7 2016 H &5y S1ém01 g TR torl &1 & 9 U6 Tg
&0 faare & R & 9 & faog iffaof f&ar ur.

1. fagaam™g
2, HafEm
3, Tradig

4 g3

Options :

71087044757. 1
71087044758. 2
71087044759. 3
71087044760. 4



Question Number : 121 Question Id : 71087011239 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arrange the following institution’s formation in ascending chronclogical order with the help of
given code

A. Common Market for the Eastern and Southern Africa
B. Economic Community of Central Africa

C. Intergovernmental Authority on Development

D. East Africa Community

Choose the correct answer from the options given below

1.B A D,C
2D, B A C
3.A B A C
4.C, D, B A
Options :
71087044761.
71087044762.
71087044763.
71087044764.

AW N~

Question Number : 121 Question Id : 71087011239 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i feu 7 ©e &1 Heradl ¥ HafciRad T=1efl o 7164 @ ARG BicihH H oqdyd o ;
A. Jdi ud Gl Spiel & oL SiH- Hibe

B. B {IBid| Iod! @I AT I

c. famra Hatt sfav IS wits

D. 4d 3bld] GHa™
i fou T fadenl # ¥ wel S gy -

1.B,A D, C
2D, B A C
3.A,B,CD
4 C D B A

Options :

71087044761.
71087044762.
71087044763.
71087044764.

AW O~

Question Number : 122 Question Id : 71087011240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Geographical disadvantages is the main barrier in India- Central Asia relations.

Reason R : Iranian part of Chabahar has become connecting Link with Central Asia region.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087044765. 1

71087044766. 2

71087044767. 3

71087044768. 4

Question Number : 122 Question Id : 71087011240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



dd el py leg MU g :

HYF-| : YA - Te0 TR & o9 Seut & ifeie ufamaar 9 3sa Bl
©HYF-II : 33 B IIER UaH YR & ol 7399 U1 &3 9 9s- &1 9ud Jrl 6|
SUgdd Syl & 3Tt H Fgifdd fdepeal § 4 w81 Sw g -

1. DY | 3R 1| GHT gl
2. By | AR 1| gHT 981 B
3. BYH-1 9 8, foog dY-11 Ta7d B
4. DYH-| A 8, foog HYH-11 a1 B

Options :

71087044765. 1
71087044766. 2
71087044767. 3
71087044768. 4

Question Number : 123 Question Id : 71087011241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
According to the UN Report of 2019, which west Asian country is faced with the worst
humanitarian crisis?

1. Irag

2. Egypt
3. Oman
4. Yemen
Options :



71087044769. 1
71087044770. 2
71087044771. 3
71087044772. 4

Question Number : 123 Question Id : 71087011241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

2019 1 §geK TP RUIE & HER Fafciad 3 4 ®H 4 UEH s <3 & 39e 9aiiis 9
AHAIY Yhe wI e ?

1. 330®
2. g
3. 3EE
4. 49

Options :

71087044769. 1
71087044770. 2
71087044771. 3
71087044772. 4

Question Number : 124 Question Id : 71087011242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



How many Arab States are membranes of the UN Economic and Social Commission for West
Asia?

1.10

2. 14

216

4.18

Options :
71087044773. 1
71087044774. 2
71087044775. 3
71087044776. 4

Question Number : 124 Question Id : 71087011242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFrafeeT o 9 frds 3RS T2 4U. SH IS Us GNe HHIT BR 3% URE & 950 § 2

1.10
14
16
18

g

Options :

71087044773. 1
71087044774. 2
71087044775. 3
71087044776. 4

Question Number : 125 Question Id : 71087011243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

List | List Il

Countries |Political Parties

A. Kuwait |l. Presidential Republic

B. Oman |IL. Parliamentary Republic

C. Yemen |lll. Absclute Monarchy

D. Turkey [IV. Constitutional monarchy

Choose the correct answer from the options given below:

TA-IV,B-ILC-,D-1
ZA-IV,B-LC-ILD-]|
3B-ILC-ILA-IV,D-]|
4C-1,D-I,B-1LD-II
Options :

71087044777. 1
71087044778. 2
71087044779. 3
71087044780. 4

Question Number : 125 Question Id : 71087011243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 i Faii-1l & 9y GAferd ifor :

| Ti-Il
o REEIRGREILY
A Hda |. ST TG
B. A II. FEG T
C.Tud 1. GOf Tl (TediedE HiAT)
D. g V. FayHe T
i feu U fgsedl § 9§ Ugl IR 9T

TA-IV,B-LC-I,D-1
2ZA-IV,B-ILC-ILD-|
3B-ILC-ILA-IV,D-|
4. C-,D-M,B-1l,D-1I

Options :

71087044777. 1
71087044778. 2
71087044779. 3
71087044780. 4

Question Number : 126 Question Id : 71087011244 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The diplomatic relations between India and the Sultanate of Oman was established in which of
the following years?

1. 1947

2. 1953

3. 1960
4.1967
Options :
71087044781. 1
71087044782. 2
71087044783. 3
71087044784. 4

Question Number : 126 Question Id : 71087011244 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafeiad # 9 fog 9u YRd 3R 3HH B eoHd & a1d Belion gy |Mud gL e ?

1. 1947
21953
3. 1960
4. 1967

Options :

71087044781. 1
71087044782. 2
71087044783. 3
71087044784. 4

Question Number : 127 Question Id : 71087011245 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

In which years did the US President Clinton brokered the Israeli-Palestinian peace deal?

1. 1996

2. 1998
3.1999

4. 2000
Options :
71087044785. 1
71087044786. 2
71087044787. 3
71087044788. 4

Question Number : 127 Question Id : 71087011245 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
faffad # 9 feog ad pufd facies = sorme - Bl 2ifd T9=id & fay Aeyd o 9 7

1. 1996
2. 1998
3.1999
4. 2000

Options :

71087044785. 1
71087044786. 2
71087044787. 3
71087044788. 4



Question Number : 128 Question Id : 71087011246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following regional Organization doesn't belong to Africa?

1. Common Market of the South

2. Arab Maghreb Union

3. Economic Community of the Great Lakes Countries
4. Community of Sahel-Saharan states

Options :

71087044789. 1

71087044790. 2

71087044791. 3

71087044792. 4

Question Number : 128 Question Id : 71087011246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fafeiad o 9 D91 9784 3ipie J JeiUd 931 & -

1. DI Hihe 3B & T3y
2. 39 Oeld giHAgH
3. SIS HHE I & JT Tad de ol

4 AT AP Ued YeRd ¥ed

Options :
71087044789. 1
71087044790. 2



71087044791. 3
71087044792. 4

Question Number : 129 Question Id : 71087011247 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

List I List 1l
A. Arab Maghreb Union |. ECOWAS
B. Economic Community of West African States Il. UMA

C. Central African Monetary and Economic Community |lll. SACU
D. South African Customs Union V. CEMAC

Choose the correct answer from the options given below:

TLA-ILB-1,C-IV,D-1l
ZA-1LB-IL,LC-1,D-1IV
3JA-NILB-1L,C-1I,D-IV
4A-1,B-ILC-1I,LD-1V
Options :

71087044793. 1
71087044794. 2
71087044795. 3
71087044796. 4

Question Number : 129 Question Id : 71087011247 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 i Faii-1l & 9y GAferd ifor :

gal-| -1l

A. 3RE T9d gHTH R R e
B. SHHIA® BRI 3 9% 3Mbidhd *ed I GUAL.

C. U<d Apid- giHedl Us shHbD el (I tgrdiy,

D. WI3Y 3Mh % St giaad v, 4GS, U

i feu T f9eedl § 9§ 98l o gd

TLA-ILB-I,C-1V,D-Il
ZA-ILB-ILC-1,D-1IV
S3A-ILB-1L,C-1ILD-1IV
4 A-1,B-ILC-1I,D-IV

Options :

71087044793. 1
71087044794. 2
71087044795. 3
71087044796. 4

Question Number : 130 Question Id : 71087011248 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct?
A. Muslim Brotherhood was an organization founded by Hasanal-Banna.
B. Muslim Brotherhood were both political Organization and social foundation.

C. Muslim Brotherhood organized Islamic revival in states such as Syria, Palestine, Jordon, and
North Africa.

D. Muslim Brotherhood came to power after the Arab Spring in Egypt.
Choose the correct answer from the options given below:

1. A only

2. A and B only

3. C only

4. A B, Cand D only
Options :
71087044797. 1
71087044798. 2
71087044799. 3
71087044800. 4

Question Number : 130 Question Id : 71087011248 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FrafiRea § 4 oY SuF el ¢ 2
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B. 0 Faigs UoHITd® T3 3R YIS BIEe¥H Gl 4Tl

C. g Fexgs -+ 9], BawE, 9o iR S ABIST ol 61 § 3] IR fbdr |
D. JRH daxgs 2Rd [T & 916 59 J g1 H 3|

- feu e famedl & 9 9l W g :

1. ®3d A
2. Pad A 3T B
3. Paac

4 A B C3RD

Options :

71087044797. 1
71087044798. 2
71087044799. 3
71087044800. 4

Question Number : 131 Question Id : 71087011249 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following countries American President Ronald Regan had described as "evil

empire'?

1. Soviet Union
2. lran

3. North Korea
4, Pakistan



Options :

71087044801. 1
71087044802. 2
71087044803. 3
71087044804. 4

Question Number : 131 Question Id : 71087011249 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fFrafeiad # 9 o1 Sif &1 it APl IS W A ‘SiaT SRR (GF 9919) §1 § -

2. 33
3. TR Sl
4, i

Options :

71087044801. 1
71087044802. 2
71087044803. 3
71087044804. 4

Question Number : 132 Question Id : 71087011250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il

Russian Leader Associated Event

A. Vladimir Lenin l. Brezhnev Doctrine
B. Joseph Stalin Il. October Revolution

C. Nikita Khrushchev [lll. The Doctor's Plot

D. Lecnid Brezhnev |IV. Cuban missile crisis

Choose the correct answer from the options given below:

TA-LB-ILC-IILD-V
ZA-IV,B-LC-1LD-1
JA-ILB-ULC-IV,D-I
4 A-IILB-IV,C-LD-I
Options :

71087044805. 1
71087044806. 2
71087044807. 3
71087044808. 4

Question Number : 132 Question Id : 71087011250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 i Faii-1l & 9y GAferd ifor :

gal-| -1l

EGll TG gAY

A. SIGHAR A REGECATEAR
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TA-LB-ILC-1IL,D-IV
2ZA-IV,B-ILC-ILD-|
SA-ILB-ULC-MV,D-|
4 A-ILB-IV,C-1,D-1l

Options :

71087044805. 1
71087044806. 2
71087044807 3
71087044808. 4

Question Number : 133 Question Id : 71087011251 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Mikhail Gorbachev is associated with :

A. October Revolution

B. Tsarist rule

C. Glasnost

D. Perestroika

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. A and D only
4. C and D only
Options :
71087044809. 1
71087044810. 2
71087044811. 3
71087044812. 4

Question Number : 133 Question Id : 71087011251 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A. TSR Pifd

B. SRAMMg! TTET

C. TR

D. TEI5®I

i feu 7w faoeal # 9 Wel 3w 9y -

1. Had A 3R B
2. HaAB AR C
3. HAAA AR D
4. %dd C AR D

Options :

71087044809. 1
71087044810. 2
71087044811. 3
71087044812. 4

Question Number : 134 Question Id : 71087011252 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labeled as Assertion A and the other is labeled as
Reason R

Assertion A: After successful war ventures in France, England, and Poland, Germany had
amassed enocrmous wealth and military power.

Reason R: In July 1940, Hilter worked out a plan called Barbarossa to attack Soviet political
and economic city centers.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087044813. 1

71087044814. 2

71087044815. 3

71087044816. 4

Question Number : 134 Question Id : 71087011252 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3. BYH-1 981 &, fbq DYH-11 UL 7ol o
4. DYH-| Uel 15! 8, fdowq Y- el B

Options :

71087044813. 1
71087044814. 2
71087044815. 3
71087044816. 4

Question Number : 135 Question Id : 71087011253 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il
Organization Head Quarters
A. Human Right Council . New York

B. European Union ll. The Hague

C. International Court of Justice |lll. Brussels
D. The United Nations V. Geneva

Choose the correct answer from the options given below:

TA-LB-ILC-IILD-V
ZA-IV,B-LC-1LD-1
JA-ILB-IV,C-1,D-1I
4 A-ILB-LC-IV,D-1l
Options :

71087044817. 1
71087044818. 2
71087044819. 3
71087044820. 4

Question Number : 135 Question Id : 71087011253 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 i Faii-1l & 9y GAferd ifor :

gal-| Tl-Il
TTaA Ty
A. HHAIY®R GRYE |1 <qdTh
BRI gATT LGB
CHRIFT e i, g8
D. Hgai AP v, foar
e fou e faseal o  Ugl IwR gMu:

TA-LB-ILC-1IL,D-IV
2ZA-IV,B-ILC-ILD-|
SA-ILB-V,C-1,D-1
4 A-ILB-LC-1IV,D- 1

Options :

71087044817. 1
71087044818. 2
71087044819. 3
71087044820. 4

Question Number : 136 Question Id : 71087011254 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The founding father of the European Union (EU) was:

1. Jacques Chirac
2. Angela Merkel
3. Jean Monnet

4. Jacques Delors



Options :

71087044821. 1
71087044822. 2
71087044823. 3
71087044824. 4

Question Number : 136 Question Id : 71087011254 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TRITUTH g9 & GRIUH DI U

1. O T

Options :

71087044821. 1
71087044822. 2
71087044823. 3
71087044824. 4

Question Number : 137 Question Id : 71087011255 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The year 1957 was famous in Russian history because

A. Krushchev became President of Russia

B. Cold War was at its peak

C. Russia launched its first inter-continental ballistic missile

D. Russia sent first artificial satellite into orbit around the Earth
Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. A and C only
4. C and D only
Options :
71087044825. 1
71087044826. 2
71087044827. 3
71087044828. 4

Question Number : 137 Question Id : 71087011255 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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i feu ¢ famedl # 9 wel I 9+

1. Had A 3R B
2. HaAB AR C
3. @A A AR C
4. &dd C AR D

Options :

71087044825. 1
71087044826. 2
71087044827. 3
71087044828. 4

Question Number : 138 Question Id : 71087011256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The process of collectivization in Russia led to :

A. Killing of million of peasants

B. widespread epidemic

C. economic prosperity

D. destruction of equipment and livestock

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. B and D only
4. A and D only
Options :
71087044829. 1
71087044830. 2
71087044831. 3
71087044832. 4

Question Number : 138 Question Id : 71087011256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



&4 H doaclageR & GRUFEGEY ] gafl 2
A. BRI faHT &1 g

B. ST HElHR]

C. 3T Fwad

D. 3Rl 3fIR U3 BT A=

i feu ¢ famedl # 9 wel I 9+

1. Had A 3R B
2. HaAB AR C
3. @AAB AR D
4. HAAA AR D

Options :

71087044829. 1
71087044830. 2
71087044831. 3
71087044832. 4

Question Number : 139 Question Id : 71087011257 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Russian Consitution limited the popular Putin to two-five years terms as
president.

Reason R : Putin simply switched jobs with his protege, Prime Minister Dmitri Medvedev, who
in 2008 was elected president as the candidate of the United Russia political party.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087044833. 1

71087044834. 2

71087044835. 3

71087044836. 4

Question Number : 139 Question Id : 71087011257 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Suddad HYAl & faie | it [deedl & U 98l 3w 91 :
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(A) g1 781 & IR (R) HEI B

1.
2:
3.
4.

Options :

71087044833. 1
71087044834. 2
71087044835. 3
71087044836. 4

Question Number : 140 Question Id : 71087011258 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who was bought to power in Georgia after ' Rose Revolution” in January 2004

1. Mikheil Saakashvili

2. Eduard Shevardnadze
3. Islam Karimov

4. Alexandar Lukashenko
Options :



71087044837. 1
71087044838. 2
71087044839. 3
71087044840. 4

Question Number : 140 Question Id : 71087011258 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frofafaa & @ feue! 99ad, 2004 # I RaiqRe & a1g Siforar & Ter & o /@ o1 7

2. UGS Rarergel

3. SXAM @AE

4. QoidlS gDRID]

Options :

71087044837. 1
71087044838. 2
71087044839. 3
71087044840. 4

Question Number : 141 Question Id : 71087011259 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The 'Keystone’ Oil pipeline, runs through which two Western hemisphere nations?

1. America and Mexico
2. America and Canada
3. Venezuela and Cuba
4. Brazil and Argentina
Options :

71087044841. 1
71087044842. 2
71087044843. 3
71087044844. 4

Question Number : 141 Question Id : 71087011259 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
P dd Grggars- uisHl e & i &l 62 Y 8ide udlied sidl & 7

2. HURDT AR HAEI
3. 3o[uan AR FE]
4, Frele AR Sl

Options :

71087044841. 1
71087044842. 2
71087044843. 3
71087044844. 4

Question Number : 142 Question Id : 71087011260 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il

Countries |Leaders

A, Brazil |. Nicolas Maduro

B. Bolivia 1. Jair Bolsonaro

C. Venezuelallll. Jeanine Anez

D. Chile I\/. Sebastian Pinera

Choose the correct answer from the options given below:

TA-ILB-ULC-1L,D-IV
ZA-|LB-ILC-1ILD-IV
3D-LC-ILA -ULB-1V
AC-1,D -IILB-ULA-IV
Options :

71087044845. 1
71087044846. 2
71087044847. 3
71087044848. 4

Question Number : 142 Question Id : 71087011260 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-ILB-ULC-1,D-IV
2ZA-LB-ILC-1ILD-V
3D-LC-ILA -IL,B-1V
4 C-1,D -1,B-1ILA-IV

Options :

71087044845. 1
71087044846. 2
71087044847. 3
71087044848. 4

Question Number : 143 Question Id : 71087011261 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: The recent ouster of President Ero Morales of Bolivia, by what many describe as a
Soft Coup, is widely suspected to have been undertaken, with the tacit support and approval
of the United States.

Statement lI: The role and scope of China across Latin America, has been progressively on the
rise and marks an alternative paradigm to externally induced development in the region.

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement Il is true
Options :

71087044849. 1

71087044850. 2

71087044851. 3

71087044852. 4

Question Number : 143 Question Id : 71087011261 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. DYH-| A 8, foog HYH-11 a1 B

Options :

71087044849. 1
71087044850. 2
71087044851. 3
71087044852. 4

Question Number : 144 Question Id : 71087011262 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The US National Security Strategy (NSS) document of 2002 and President George W. Bush
state of the Union address, were unique because of which of the following?

A. Declaration of US intent to pursue a policy of Preemption

B. Identified other radical groups, in additions to Al Qaeda, as opponents and enemies in the
War on Terror

C. Identified allegedly ' Rogue States' under the phase of ' Axis of Evil' as a target in the War on
Terror.

D. Commissioned radical overhaul and reform of US national intelligence apparatus
Choose the correct answer from the options given below:

1. B and C only
2. A and D only
3. A and B only
4. A and C only
Options :
71087044853. 1
71087044854. 2
71087044855. 3
71087044856. 4

Question Number : 144 Question Id : 71087011262 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3. PAAA AR B
4. HIAA R C

Options :

71087044853 1
71087044854. 2
71087044855. 3
71087044856. 4

Question Number : 145 Question Id : 71087011263 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



How should the ' Washington Consensus’ process be understood?

A. An agreement between the US and Latin America on the States of immigrants

B. An agreement between the US and Latin America on the "War on Drugs’

C. A program of Neoliberal Economic Reform advocating open trade and free markets
D. A program of Keynesian Economics, that seeks to reduce dependency

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. C only

4. C and D only
Options :
71087044857. 1
71087044858. 2
71087044859. 3
71087044860. 4

Question Number : 145 Question Id : 71087011263 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A 3R B
2. HaAB AR C
3. HaAC

4. %dd C AR D

Options :

71087044857. 1
71087044858. 2
71087044859. 3
71087044860. 4

Question Number : 146 Question Id : 71087011264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which longest-running insurgency movement came to an end when the government and the
rebel forces signed a historic Peace Deal?

1. Shining Path

2. Zapatistas

3. Sandinistas

4. Revolutionary Armed Forces of Columbia (FARC)
Options :

71087044861. 1

71087044862. 2

71087044863. 3

71087044864. 4

Question Number : 146 Question Id : 71087011264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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e e Uiaeiiie e Gaeiar 4us ga:
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Options :

71087044861. 1
71087044862. 2
71087044863. 3
71087044864. 4



Question Number : 147 Question Id : 71087011265 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which nations in Americas stand outs for its tendency to make human rights and concerns
emanating from challenges to the liberal international order, a core and integral aspect of its
foreign policy?

1. United States of America
2. Brazil

3. Canada

4 Panama

Options :

71087044865. 1
71087044866. 2
71087044867. 3
71087044868. 4

Question Number : 147 Question Id : 71087011265 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044865. 1
71087044866. 2
71087044867. 3
71087044868. 4

Question Number : 148 Question Id : 71087011266 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which Western Hemisphere wide Free Trade Agreement, proposed by the United States, fell
through, owing to fierce opposition from within Latin America?

1. Organization of American States (OAS)
2. Rio Treaty

3. Latin American Free Trade Area (LAFTA)
4, Free Trade Area of the Americans [FTAA)
Options :

71087044869. 1

71087044870. 2

71087044871. 3

71087044872. 4

Question Number : 148 Question Id : 71087011266 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



giEl i # Hgad 399 gR1 WRalidd Had ouR 9iY b gRT Al SEd® & $iel 8 UR
faRre 59 & BRI fama &l T

1. ARHATZRH B HHRGA ¥l (S.LTH)
2, fear g9y

3. difed HREH Wl ¢ thal (EEuum.du)
4. b1 ¢ TR 31 ¢ fAR® EH AT

Options :

71087044869. 1
71087044870. 2
71087044871. 3
71087044872. 4

Question Number : 149 Question Id : 71087011267 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Given below are two statements

Statement I: In the recent months, Latin American economies, considered to be economically
growing and fairly resilient, have witnessed massive social unrest.

Statement lI: Despite fairly promising economic growth, the commodity-rich Latin America
countries have struggled to address income disparity and socio-economies inequality.

n light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incarrect

3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

71087044873. 1

71087044874. 2

71087044875. 3

71087044876. 4

Question Number : 149 Question Id : 71087011267 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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71087044873. 1
71087044874. 2
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Arrange the following Latin America regional organizations in order of establishment
A. Organization of American States (OAS)

B. Southern Common Market (MERCOSUR)

C. Bolivarian Alliance for the people of our America (ACBA)

D. Union of South American Nations (UNASUR)

E. Community Of Latin America and the Caribbean (CECAC)

Choose the correct answer from the options given below

1.B,CAED
2.A B CDE
3D0,CBAE
4. E A B CD
Options :
71087044877. 1
71087044878. 2
71087044879. 3
71087044880. 4

Question Number : 150 Question Id : 71087011268 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.B,C,AED
2ZABCDE
3.0,C, B AE
4 EABCD

Options :

71087044877. 1
71087044878. 2
71087044879. 3
71087044880. 4



